{STRONG-HOLDTM 10' x 8' Assembly Instructions

READ THIS FIRST!

BEFORE BEGINNING ASSEMBLY:

1. Remove parts from boxes and make sure all parts are present and in good condition.

2. Review the suggested tool list below and ensure you have the right tools ready before
beginning assembly.

3. Two adults are required for assembly, although it is recommended a third adult be
available as an instruction reader.

4. READ AND FOLLOW THESE INSTRUCTIONS IN ORDER!!!

For customers in the USA and Canada:
DO NOT CONTACT STORE! For assistance, including missing or broken parts, please call
US Leisure Customer Service at:

1-877-638-7056, Ext. 1

Our friendly customer service representatives will be happy to assist you Monday through Friday,
8 AM to 5 PM, Eastern Standard Time.

For customers outside the USA and Canada:
For assistance, please contact the store where you purchased the product.

Suggested Tools:

(Not Included)

OO O

7/16"




{STRONGHOLDTM 10' x 8' Assembly Instructions

R

\/

usLeisur®

{sTRONGHOLD
10' x 8' x 8' Outdoor Shed Model # 157479

READ THIS PAGE BEFORE
ASSEMBLY OF YOUR NEW SHED

Reminder:

Please mail the registration card provided with your instructions.

Building Code Notice:

Consult at local building codes, as well as city, county, and state ordinances to ensure that the contruction of
this shed does not require a building permit. Proper documentation and approvals may also be required by
your neighborhood. Be sure to research this information before assembly of your shed.

Temperature:
Not recommended for installation below 40° Fahrenheit.

Level Surface Required:

Surface must be leveled before starting installation. Recommended surfaces for installation include cement
or treated wood deck style surface. If the surface is not properly leveled, the shed will not assemble
correctly. This step is very important and time saving in the assembly of the shed.

Required Tools Notice:

Some tools are required for the assembly of this shed. Please ensure you have the proper tools before
beginning assembly. In some cases, a power screwdriver or drill is required. The plastic used in the
construction of your shed can be damaged by over tightening of screws. To avoid damage, it is strongly
recommended that the power screwdriver or drill be low powered or equipped with an adjustable clutch
set on low torque setting. If neither is available, use of a hand screw driver would be best to avoid over
tightening of screws.

Prevention of Floor Damage:
Sharp objects can puncture and damage your floor. It is recommended to place sharp or heavy objects on a
wooden block between the object and the floor.

A SAFETY INSTRUCTIONS: A

FAILURE TO FOLLOW THESE WARNINGS MAY RESULT IN SERIOUS INJURY OR PROPERTY
DAMAGE AND WILL VOID WARRANTY.

To ensure safety, do not attempt to assemble this shed without reading and following the instructions carefully.
Check the entire box and all inside packing material for parts and/or additional instruction materials. Before
beginning assembly you must read the instructions thoroughly and identify all parts using the parts list in
this document. Correct assembly and proper use are essential to reduce risk of accident or injury.

- Do not use or store hot objects such as grills, blow torches, welding equipment, etc. in the shed.

- If using a ladder during assembly, use extreme caution.

- Two capable adults are required for shed assembly. It is also recommended that a third adult function as an
instruction reader.




{STRONG‘-HOLDTM 10' x 8' Assembly Instructions

Site Preparation and Foundation Construction
NOT SECURING TO A FOUNDATION MAY VOID THE WARRANTY.

If you would like to build a concrete base for your shed, we recommend a 10' 2" x 8' 2" base for your shed. As
specific instructions on how to build a concrete base can vary, please contact the professionals at your local
home center or hardware store for more information.

Concrete Slab Suggested Size

<

10| 2||

Wood Platform Suggested Size

Materials List Quantity
2" x 6" x 10" Treated 10 .
3/4" x 4'x 8 Treated Plywood 3 m %Ifn;st be exterior grade
Deck Mate #8 x 3" Screws (1 Ib box) 1 g ‘
Deck Mate #7 x 1 5/8" Screws (1 Ib box) 1
120"
7\
99" _|16"0C
Cut 8 2x6's at 117" and 2 at 99". Frame 16" OC (On Center). 120"
\ |
B 3"x 8' Rip of 3/4" Plywood 3"x 24" Rip
99" 4'x 8' - 3/4" Plywood 4'x 8'- 3/4" Plywood 24;:;3;(;02/4“




{STRONG-HOLDTM 10' x 8' Assembly Instructions

Parts List for the 10' x 8' x 8' Shed

Plastic Parts:

Part Name Part Letter Quantity Part Name

Center Floor Panel CF 2 Rear Center Left Panel without Flange RCL
Center Gable Panel CG 2 Rear Center Right Panel with Flange RCR
Corner Lock CL 8 Right Door RD
Exterior Door Handle DH 2 Right Floor Panel RF
Door Plug DP 4 Right Gable Panel RG
Front Panel FL/FR 2 Roof Panel RP
Gutter Wall Connector GC 4 Rear Panel RR/RL
Gable Long Shelf GLS 2 Roof Support RS
Gable Support GS 1 Right Window Shutter RWS
Gable Short Shelf GSS 2 Right Window Handle RWH
Door Hinge H 6 Standard Extension SE
Interior Door Handle ID 2 Sky Light SK
Left Door LD 1 Sky Light Plug SP
Left Floor Panel LF 2 Shelf Standard Support SS
Left Gable Panel LG 2 Truss Connector TC
Door Latch Pin LP 2 Wall Gable Support WGS
Left Window Handle LWH 2 Left Window Panel WL
Left Window Shutter LWS 2 Window Panel WP
Panel Plugs PP 136 Right Window Panel WR
Plastic Screws PS 36

Roof Truss Brace RB 2

Roof Truss Channel RC 4

Metal Hardware Bag 1:
Part Name
Hex Head Bolt 1/4" x 1/2"
Hex Head Bolt 1/4" x 2 1/2"
Hex Nut 1/4"
#10 x 3/4" Phillips Washer Head Screw
#12 x 3/4" Phillips Pan Head Screw
#12 x 1 1/2" Phillips Pan Head Screw

Metal Hardware Bag 2:
Part Name

Door Lock
Door Latch
#6 x 5/8" Flat Head Screw

Metal Hardware Bag 3:
Part Name

Lock Washer

Quantity

13
8
21
20
40
33

Part Letter Quantity

DL 1
LCH 1

Quantity

36

Part Letter Quantity

N NN BN NDNDN=22DNDNDNDODNODNDN=-S A -



™

{STRONGHOLD 10' x 8' Assembly Instructions

Parts Identification with Quantity:

2 - Window Panel

2 - Right Floor Panel 2 - Center Floor Panel

2 - Left Floor Panel

£

RWH
2 - Right Window

LWH
Left Window
Handle

2

RWS
Right Window
Shutter

2

LWS
2 - Left Window

Handle

Shutter

SNy

Y

S

RCL
1 - Rear Center

RCR

1 - Rear Center

RR/RL
2 - Rear Panel

WR

2 - Right Window

WL

2 - Left Window

FL/FR
2 - Front Panel

Left Panel

Right Panel

Panel

Panel

without Flange

with Flange

4 - Door Plug

Left Door

2

1 - Right Door

A

without Flange

with Flange

A

PP
136 - Panel Plugs

ID
2 - Interior Door

6 - Door Hinge 2 - Door Latch Pin

2 - Exterior Door

Handle

Handle

2 - Gable Long Shelf

2 - Gable Short Shelf

2 - Right Gable Panel

2 - Center Gable Panel

2 - Left Gable Panel



{STRONGHOLDTM 10' x 8' Assembly Instructions

Parts Identification with Quantity (Continued):

SK SP CL PS
2 - Sky Light 2 - Sky Light Plug 8 - Corner Lock 36 - Plastic Screws
il =
GC TC
4 - Gutter Wall Connector 2 - Truss Connector
= = 25.5"
SE
1 - Standard Extension
= = 62.5"
RC
4 - Roof Truss Channel
=z — = = = == == == 72"
SS
7 - Shelf Standard Support
- - 59.8"
RB
2 - Roof Truss Brace
40.5"
WGS
4 - Wall Gable Support
> 30"
RS
6 - Roof Support
66.2"

GS
1 - Gable Support

Metal Hardware Bag 1:

¥ R | ¥

8 - Hex Head 13 - Hex Head 21 - Hex Nut 1/4" 20 - #10 x 3/4" 33-#12x11/2" 40 - #12 x 3/4"
Bolt 1/4" x 2 1/2" Bolt 1/4" x 1/2" Phillips Washer Phillips Pan Phillips Pan
Head Screw Head Screw Head Screw
Metal Hardware Bag 2: Metal Hardware Bag 3:
DL LCH 4 - #6 x 5/8"
1 - Door Lock 1 - Door Latch Flat Head Screw 36 - Lock Washer

-6-



™

ﬂgTRONGHOLD 10' x 8' Assembly Instructions

J

@
I
S
2
.. [T
N L=
O e,
= L o—g
S 258=
O &o 2=
()] o - ol
S 5825
o Q9
Q o &®»
(O] Frbx
- — DO
W EELew
oOgE T
0n Qo =
] xroad, o
= [ .6”
 caana~om

|

LEVEL FLOOR SURFACE REQUIRED

Step 1: Assemble Floor

Step 1a:

to a Right Floor Panel (RF).

)

(LF

Snap together a Left Floor Panel

Step 1b:

2) Center Floor Panels (CF).
Repeat for the remaining Left Floor Panel (LF) and Right Floor Panel (RF).

(

Snap together two




{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 1c:

One of the assemblers should stand on the Center Floor Panel

|

16 - #10 x 3/4" Phillips Washer

This step hardware:
Head Screws

|

(CF) and raise it to a 45° angle down
to the Center Floor Panel (CF) on the ground. Using a rubber mallet,

tap the Right Floor Panel (

RF) firmly until it pops into place.

).

Repeat with the Left Floor Panel (LF) on the other side of the Center

(CF). The second assembler should slide the Right Floor Panel (RF)
Floor Panel (CF

alongside the Center Floor Panel

Step 1d:

Fasten floor panels together using #10 x 3/4" Phillips head screw (16).

DO NOT USE DRILL ON THIS STEP.

NOTE:

Anchors are not

Optional floor anchor holes. (One on each corner.)

supplied for optional
floor anchor holes!




™

ﬂgTRONGHOLD 10' x 8' Assembly Instructions

|

. -
G =
n_W.v mdwu
> U%I\C
O Lo 957w
[ ~— = 0
= 28l
cScow
w T 2N©
L rt=so5=
0w T %ES-x
w 2T5®a8
= Lo oa
i
o~

|

Place Left Window Panel (WL) into the side left corner and lock
into position using Plastic Screws (PS x 2) with Lock Washers (x 2).

Step 2: Assemble Front Corner

Step 2a:

N\

4 This step hardware:

2 - Plastic Screws

O

\ 2 - Lock Washers




™

{STRONGHOLD 10' x 8' Assembly Instructions

Step 2b:

Place Front Panel (FR) into front left corner aligning the top corner with

Left Window Panel (WL).

Lock into position using Plastic Screws (PS x 2) with Lock Washers (x 2).

\

[ This step hardware:

O

Corner Locks (CL)
2 - Lock Wash

2

- Plastic Scre

|

Step 2c:

(CL x 2) by sliding down into locked position.

Insert Corner Locks

of wall for easy insertion of Corner

apply pressure on opposite side
Lock (CL)

Second person should

NOTE

Slide Down

Corner Lock hooks
must face down

-10 -



{STRONGHOLDTM 10' x 8' Assembly Instructions

This step requires: A
Step 3: Assemble Shuttered '
. 2 - Left Window Shutters (LWS)
Window Panel 2 - Right Window Shutters (RWS)
2 - Left Window Handles (LWH)
Step 3a: 2 - Right Window Handles (RWH)
Snap Left Window Handle (LWH) into position. gjﬁvl'a"s‘ﬂiiwsﬁf;@ff(é,"g’f )
Repeat attaching Right Window Handle (RWH) into \2 - Lock Washers )
Right Window Shutter (RWS).
Step 3b:

IMPORTANT! Read this step carefully. The shutter cannot be put in backwards or the pin will break.
Please follow these steps in order:

1. Connect Right Window Shutter (RWS), starting from bottom right corner of Window Panel (WP).

2. Insert Right Window Shutter (RWS) bottom peg into Window Panel (WP) and then snap Right Window
Shutter (RWS) upper peg into position.

3. Close and lock shuttered window (RWS).
Repeat to install Left Window Shutter (LWS).

NOTE:

Shuttered windows should be
attached from outside of the
Window Panel (WP).

NOTE:

Put aside one Window
Panel (WP) to be assembled
in Step 4.




™

{STRONGHOLD 10' x 8' Assembly Instructions

Step 3c:

Place Window Panel (WP) next to Left Window Panel and lock into
position with Plastic Screws (PS X 2) and Lock Washers (x 2).

\
J

@)

\ 2 - Lock Washers

2 - Plastic Scrws

/ This step hardware:

-12-




™

{STRONGHOLD 10' x 8' Assembly Instructions

. o
& =o
— = GW)
S5 @ ae3E _
2O =0 sy 1 — O w
() = > o =i [&] x5
S $gPriLL. B, T
SO ®© D OL T T ®D
Q. SOD..nnu.mmnma.mma
D CLWMnaaeneaW
-— =5 3 MPPCaCPk
n 225 x= P = M
S ceHFx=2 85 S TF o0
[72] o= 0L 0T 0.2
= rosxx i Sy
© f t | ©
— ~ O~ N~ N+~ «— ~ ~

Step 4: Assemble Wall Panels

Step 4a:

Slide Right Window Panel (WR) and lock into position

and Lock Washers (x 2).

)

with Plastic Screws (PS x 2

N\

4 This step hardware:

18 - Plastic Screws

O

\_ 18 - Lock Washers

:
i
b

N

)
N\“
%

i
e
W
W

)
)
)

)
{
..
)

)
y

)
y

Oo,.

Step 4b:

Place Rear Panel (RL) into back left corner and lock into position with Plastic Screws

(PS x 2) and Lock Washers (x 2).

N

NI




{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 4c:

Insert Corner Locks (CL x 2) by sliding down into locked position.

|

f
)
S
Py O .=
(D) = T
© 3 3
g — zge
S GETTT © 3 5%
s X < 5583 2
© S o ?® O o O S ¢
e S S Qs < =
S » > L ~ ©
[oX — -_&IVS"C o O
[} o W& $ o S
-— [ L =4 - O
w c =©- sa_ < . ©
o 1= o O [
<2} OOW c c =
— (&) (SR I = = @
e ' Nep.nmo o =
\Z /AN AN Y,

Slide Down

Push

““““

V.

=

L

Step 4d:

Continue assembling the next three Wall Panels (WP) in the following order:

1. Rear Center Left Panel (RCL)
2. Rear Center Right Panel (RCR)

3. Rear Panel (RR)
As you go lock into position with Plastic Screws (PS x 6) and

Lock Washers (x 6).

=

/
)

i

W

W\

;
i
PAv

"
)
)

I\

//%// n_ //

\

N

-14 -



PS x 2) and Lock Washers (x 2).

(

Push Slide Down

and lock into position with Plastic Screws

Insert Corner Locks (CL x 2) by sliding down into locked position.

)

Place Left Window Panel (WL

{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 4e:

{

side of wall for easy insertion of

apply pressure on opposite
Corner Locks (CL)

Second person should

/NOTE:

e /PN
A =k
VOOV =~ £ — _ ,ﬂ
TR s P2 o
N G omm
T
] b i

Step 4f:

-15-



{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 4g:

o

/

y
/

g
g
'
'
J

)
)

)

%

y
i
)

/
Y

Y
)
;
i
'

_;
{
;
"0
)

(

)
)
)
/
)

o
{
B
o
)

7

)
)
)
)
)

0
i
0

i

i

<L

/)
/A

N

W

LI
T

N

=
>

=

-

//

I

)
)

-16 -

Place Front Panel (FL) and lock into position with Plastic Screws (PS x 2) and Lock Washers (x 2).
Insert Corner Locks (CL x 2) by sliding down into locked position.

NOTE:

Second person should

apply pressure on opposite
side of wall for easy insertion
of Corner Locks (CL)

Corner Lock hooks
must face down

/

Slide Down




{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 5a:

Step 5: Assemble Side Shelf
Standard Supports

/This step requires:

4 - Gutter Wall Connectors (GC)
4 - Shelf Standard Supports (SS)
4 - Hex Head Bolts 1/4" x 1/2"

Fasten Gutter Wall Connector (GC) to
Shelf Standard Supports (SS) with
Hex Head Bolt 1/4" x 1/2" (x 4).

Repeat this step four (4) times.

Screws
\4 - Hex Nut 1/4"

12 -#12 x 1 1/2" Phillips Washer Head

N

J

This step hardware:

(Do <

Hex Head

Bolt 1/4" x 1/2" Hex Nut 1/4"

Shelf Standard Support (SS) with Bolt and Nut.

-17 -




{STRONGHOLDTM 10' x 8' Assembly Instructions

Step 5b:

Place assembled Shelf Standard Supports (SS) into position

and fasten with #12 x 1 1/2" Phillips Pan Head Screw in the three (3) holes supplied.

~\
A

~

)
"

B\

A
A
i

()
i
(0
Hi
o
00

g
0
X
)
X

;
/i
ﬁy
)
b

<>

Y
N
&

ANV

!
b

T

b

O

Wi

Y

]

Right Hole

2
MRS
©

DA

-18 -

=
4=

This step hardware:

Qe

4 -#12 x 1 1/2" Phillips Head Screws

Second person should

apply pressure on opposite

side of wall for easy insertion

of Shelf Standard Supports (SS)

should be assembled and
fastened to the wall
one at a time.

NOTE:
Shelf Standard Supports (SS)




{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 5c:

Continue to assemble Shelf Standard Supports (SS) into position
and fasten with #12 x 1 1/2" Phillips Head Screw in the three (3) holes supplied.

This step hardware:

Qe

Right Hole 8 -#12 x 1 1/2" Phillips Pan Head
Screws

NOTE:

Second person should

apply pressure on opposite

side of wall for easy insertion

of Shelf Standard Supports (SS)

%

7 4/

Vi
/

{/

N

Q

\

A

T \ \\

=
TG

T,
W\
I
0 \
G

WY

\(/\(4/
.\

)
A\

AN

DAY

-19-



{STRONG-HOLDTM 10' x 8' Assembly Instructions

(. . .
This step requires:
Step 6: Complete Shelf Standard
2 - Shelf Standard Supports (SS)
Support Assembly 1 - Standard Extension (SE)
Step 6a: 1 - Hex Head Bolt 1/4" x 1/2"
9-#12 x 1 1/2" Phillips Pan Head Screws

Connect, using Hex Head Bolt 1/4" x 1/2", Shelf Standard Supports (SS)
and Standard Extension (SE).

-

This step hardware:

Q@

Hex Head
Bolt 1/4" x 1/2" Hex Nut 1/4"

Cor )

[

Step 6a:

Connect, using Hex Head Bolt 1/2", Shelf Standard Supports (SS)
and Standard Extension (SE).

This step hardware:

Screw into Right Hole EgFtGIYIV()iInetso Right and @m
SSJ- #12 x 1 1/2" Phillips Pan Head

i NOTE:

: \~ ~ Second person should '
= = oo
\E | \ : § : % of Shelf Standard Supports (SS)
= Si=l—=l=

\ //5

(

-20-



{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 6¢:

The last Shelf Standard Support (SS) should be placed in position and fastened to the wall
using the left Standard Support screw holes.

This step hardware:

Qe

3-#12 x 1 1/2" Phillips Pan Head
Screws

Screw into the Left Hole

gm\ D

\

-21 -



{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 7: Assemble Roof Frame

Step 7a:

Connect two (2) Roof Truss Channels (RC) together
with a Truss Connector (TC) and four (4) Hex Head Bolt 1/4" x 1/2"

This step should be completed twice (x 2).

RC
-

-22 -

This step requires:

- Roof Truss Channels (RC)

- Truss Connectors (TC)

- Roof Truss Braces (RB)

- Roof Supports (RS)

- Sky Lights (SK)

- Sky Light Plug (SP)

- Hex Head Bolts 1/4" x 1/2"

- Hex Head Bolts 1/4" x 2 1/2"

A appODDDN D

~

J

This step hardware:

(Do S

Hex Head

Bolt 1/4" x 1/2" Hex Nut 1/4"




{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 7b:

Attach a Roof Truss Brace (RB) to the assembled Roof Truss Channel (RC).

Line up holes and connect two (2) Roof Supports (RS) using Hex Head Bolt 1/4" x 2 1/2"
on both sides of the Roof Truss Brace (RB).

This step should be repeated four (4) times.

The final two (2) assembilies in this step will connect the center Roof Supports (RS),
making a single one piece frame.

This step hardware:

@:mm

Hex Head
Bolt 1/4" x 2 1/2" Hex Nut 1/4"

NOTE:

The final two assemblies in

this step will connect the center
Roof Supports (RS), completing a
single frame.

-23.



{STRONGHOLDTM 10' x 8' Assembly Instructions

Step 7c: (This step requires:
Bend or fold Sky Light Panel into a 45° angle. 2 - Sky Light Panels (SK)
1 - Sky Light Plug (SP)
Place Sky Light Plug (SP) into Sky Light Panel (SK). 4- Hex Head Bolts 1/4"x 21/2

4 - Hex Nuts 1/4"

Snap together two (2) Sky Light Panels (SK).

-
This step hardware:

=

1 - Sky Light Plug (SP)
-

C I
NOTE:
Skylight plug is the same color as
the Doors (RD & LD).
U )
NOTE: A

There is an extra Sky Light Plug
(SP) included and that it will not
be used.

- @/

Step 7d:

Connect assembled Sky Light by snapping into position on the Roof Frame.

(View from
underneath)



{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 7e:

WARNING! Two (2) people should be used to lift and place Roof Frame into position.
Roof Frame will slide into Gutter Wall Connectors (GC) assembled in Step 5.

While one person holds the frame in place, the second person should fasten Roof Frame
to the Gutter Wall Connectors (GC) attached to the Shelf Standard Support (SS).

Using Hex Head bolt 1/4" x 2 1/2" this connection should be repeated four (4) times.

This step hardware:
O—omw

4 - Hex Head
X4 o Bolts 1/4" x 2 1/2" Hex Nut 1/4"

A

NOTE:

Two people should be used to
lift and place Roof Frame into
position.

\

]

%

J
A
A
A
A0

0
i
@

)
i
i
&?

AWM

=

NN
AN

!
!

()
i

-25.



{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 8a:

Step 8: Roof Gable Assembly

(This step requires:

- Right Gable Panels (RG)
- Left Gable Panels (LG)
- Center Gable Panels (CG)

1. Place Center Gable Panel (CG) on the floor
(outside facing down) and snap into position
a Right Gable Panel (RG) and a Left Gable Panel (LG).

2. Snap together one Gable Long Shelf (GLS)
and one (1) Gable Short Shelf (GSS).

- Gable Long Shelves (GLS)
- Gable Short Shelves (GSS)
- Plastic Screws (PS)
- Gable Support (GS)

—_

D=2

-

- #12 x 3/4" Phillips Pan Head Screws/

3. Connect the assembled Gable Panels to the Assembled Gable Shelf until

securely snapped together.

This step should be completed twice.

- 26 -

/NOTE:

For assembly, the outside (LOGO)
of the Center Gable Panel (CG)
should be facing down.

\




{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 8b:

Slide and snap assembled Gable into position on the Front and Back Walls.

|

The Rear Gable assembly will
slide onto the Center Shelf
Standard Support Extension.

NOTE:

|

T AR

o

[/
RAIKR) ,,%
\

AR
KOO
QOOOUOOU
i

N
o

.
N
Wi

A

8

Y
Q0
W

-27 -



CGJ

(

that the ends of the Sky Light (SK)

|

For proper assembly it is important
are snapped into position over the
top of the Center Gable PANEL

NOTE:

ends
).

)

into position over the top of the Center Gable Panel (CG

™

ﬂgTRONGHOLD 10' x 8' Assembly Instructions

Once Gables are in place, snap the Sky Light (SK

Step 8c:

___ -

E ,/,,///////

-28-



™

{STRONGHOLD 10' x 8' Assembly Instructions

Step 8d:

1. Fasten center shelf standard extension to the Back Gable using #12 x 3/4" Phillips Head Screw.

2. Fasten two (2) Plastic Screws in the upper side of each panel.

N

his step hardware:

/.I_

2 - 12 x 3/4" Phillips Pan Head Screws

@Oy

12 - Plastic Screws

©)

\12 - Lock Washers

ST
AN

T
OO

A=
()

\
,, TR
A

W X
y \

) 1

-29

W
| 0K

B
..““zf“.“.“.

N

s




™

{STRONGHOLD 10' x 8' Assembly Instructions

Step 8e:

Next connect the Roof Supports (RS) to the Front and Back Gables

using four (4) #10 x 3/4" Phillips Washer Head Screws.

|

his step hardware
4 -#10 x 3/4" Phillips Washer Head

[

Screws

-30 -

R
Ny

AN
A

<>

M
Mol
ol
o




|

Wall Gable Support (WGS)

frswim

8 - #12 x 3/4" Phillips Pan

Head Screws

This step hardware:

\\‘

|

;\\\ //////// AN

™

{STRONGHOLD 10' x 8' Assembly Instructions

#12 x 3/4" Phillips Pan Head Screws in all four (4) locations noted below.

Slide Wall Gable Support (WGS) into position and fasten

Step 8f:

i
..

T
s
.

.“.M

0 ﬁ/ ////% i

..

-31-



™

{STRONGHOLD 10' x 8' Assembly Instructions

Step 8g:

Attach Gable Support (GS) to Front Gable assembly only using #12 x 3/4" Phillips Pan Head Screws.

|

Head Screws

This step hardware
6 - #12 x 3/4" Phillips Pan

|

|

of the wall for easy insertion
of #12 x 3/4" Phillips Pan Head

Second person should apply
pressure on opposite side

|

AT

.y »

\

Q

A\
)

N

o
e
0

)

o

o
/§

"

W
A
i

W)

I \
| \ V4
| W\ D) VWA /
| §
A A
vy —
_ AN
\ )
W

>

-32-



{STRONG-HOLDTM 10' x 8' Assembly Instructions

|

This step hardware:

6 - Roof Panels (RP)

|

RP) into track and push into the Sky Light (SK)

until locked in position. (Snap should be aligned before
applying pressure to insert the snap into locked position.)

Step 9: Roof Assembly

Slide Roof Panel (

Step 9a:

This should be repeated six (6) times until roof is complete.

|

o

S5 <
S O
L oOox =
B D
V,O.Weo
592782
pp\)rbo
© O X p..m
5 =D o=
S s5=24
= — S G
o o c =
£ 59T 5
i e =i
c o938 =
an P oW pN~D|I

[
W&o ey
data(
I c =5 0L
Ogcos®
O = O c
Neo..waa
W oT ®» an

{

\ \
S\ \
/ \ O\ \
Z\ \ \ \ ¥
\ \ \

\ / \ g - 4
\V
/, N\ O\
" \ O\ / )
\ O\ ) \ ’//
A\ Y. S—dee—a/
A A \ ) Vi ,
\ \
Vi \ \
(i~ ,\ \ ,/ \ ,,,, / »
y \ \ \
N\ & N\ )
\ \ \ O\ ARLATRY \
)\ /, \/ AR

|

both center panels first to help keep

When installing top panels, install
Sky Light positioned correctly.

NOTE:

/)

—— A\

\=/a)

\|— /=

i
i
..“.t "

T

/

)

il
i

“:, ,
Y
h
()




{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 10a:

Step 10: Door Assembly

4 )
This step requires:

- Door Plugs (DP)

- Door Hinges (H)

- Interior Door Handles (ID)

- Exterior Door Handles (DH)

1. Slide and snap Door Plugs (DP) into top and bottom
of the Door Panel.

2. Snap Door Hinge (H) into position and fasten using
#12 x 3/4" Phillips Pan Head Screws.

Repeat this step three (3) times.

3. Slide Interior Door Handle (ID) into the door panel, connecting it

- Door Latch Pins (LP)

- Door Lock (DL)

- Door Latch (LCH)

24 - #12 x 3/4" Phillips Pan Head Screws
8 - #12 x 1 1/2" Phillips Pan Head Screws

=N NNOO B~

\4 - #8 x 5/8" Phillips Head Screws

to the Exterior Door Handle (DH) and fasten with #12 x 1 1/2" Phillips head screw.

4. Repeat for both doors.

-34 -

This step hardware:

Qurirrni B (S

8-#12x11/2" 12 -#12 x 3/4"
Phillips Pan Head Phillips Pan
Screws Head Screws




{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 10b:

Attach assembled Door Panel to the door frame using #12 x 3/4" Phillips Pan Head Screws.
Repeat for other door.

This step hardware:

=

6 - #12 x 3/4" Phillips Pan Head
Screws

NOTE:

Snaps of hinges are for placement
only. Second person should apply
opposite pressure on hinge while
other person is fastening screws
into position.

/

\
\\\\

R

/
a
L
/]

\

AN

1

T

0

OO0

0
A
i

f
/
1

S

A0

TN

-35-



{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 10c:

1. Slide Door Latch (LCH) into the Right Door Panel (RD) and fasten using
the #6 x 5/8" Phillips Head Screws. Do not over tighten.

2. Slide Door Lock (DL) into Left Door Panel and fasten using #6 x 5/8" Phillips Head Screws.
Do not over tighten.

This step hardware:

¥

4 - #6 x 5/8" Phillips Head
Screws

\

é@/ﬁ/
\

=
I\ \\;\\

P

g
=

JIIN

W

I

RN

EEY

-36-



{STRONG-HOLDTM 10' x 8' Assembly Instructions

Step 10d:

1. Slide Door Latch Pin (LP) into the track on the top and bottom of the Right Door Panel (RD).

|

his step hardware:

|

2 - Door Latch Pins (LP)

4

= —

A
{

\

\

f//////////////

///////// T

\

I

wjy

—— ] A
)\ Y
= o W v

[Vag

(/R

-37-



{STRONGHOLDTM 10' x 8' Assembly Instructions

Step 11: Insert Core Plugs

Step 11a:

Insert Panel Plugs (PP) and turn 1/4 turn.

This step should be repeated 134 times.

This step hardware:

«
f
4

134 - Panel Plugs (PP)

™ NOTE:

There are two extra
Panel Plugs (PP) that will
not be used. <

A

~
‘?

é
="
4

-38 -

o e




{STRONGHOLDTM 10' x 8' Assembly Instructions

10 Year Non-Transferable Limited Warranty

US Leisure, (“USL”) warrants to you the original purchaser of resin storage buildings
manufactured by it (hereinafter referred to as “Products”), that subject to the terms and conditions
herein contained, the Products are and will be free from defects in materials and workmanship
that result in warping, rotting, corroding, flaking, peeling, blistering, or abnormal discoloration of
surfaces. The term, “defects”, is defined as imperfections that impair the use of the product. This
warranty will remain in effect for a period of 10 years as long as you are the original purchaser of
the Product and it (hereinafter referred to as “Products”), that subject to the terms and conditions
herein contained, the Products are and will be free from defects in materials and workmanship
that result in warping, rotting, corroding, flaking, peeling, blistering, or abnormal discoloration of
surfaces. The term, “defects”, is defined as imperfections that impair the use of the product. This
warranty will remain in effect for a period of 10 years as long as you are the original purchaser
of the Product and if the Product is used in non-commercial applications. All failures of Products
covered by this warranty will be repaired, replaced, or restored by USL in accordance with the
terms and conditions of this warranty. By acceptance and use of the Products, you agree with
USL’s liability, and replacement of the Products at USL’s option as provided herein.

Products which experience color change due to normal weathering are excluded from this
warranty (including non-uniform fading and color changes resulting from unequal exposure

of panels to the sun and elements). For purposes this warranty, the term “normal weathering”
means exposure to ultraviolet (sun) light, and extremes of temperature and atmosphere which will
cause any colored or painted surface to fade, darken, chalk, or acquire surface accumulation of
dirt or stains. The severity of these conditions depends on air quality, the geographic location of
the property at which the Products are installed, and other local conditions over which USL has
no control. USL shall not be liable for and this warranty does not apply or extend to any failure,
defects, or damages arising from or connected with, without limitation, misuse, abuse, neglect,
faulty or improper installation.

This warranty is void if structural parts and components not supplied by USL are used. This
warranty will be void if product is not assembled according to instructions including but not limited
to the level surface guidelines. Failure, damage, defects or other malfunctions resulting from
misuse, abuse, negligence, alteration, unreasonable use, accident, lack or proper maintenance,
impact of foreign objects, hail, tornado, hurricane, other violent storm, flood, fire, pollutants,
chemicals, rusting, acts of nature, vandalism, and other causes beyond USL’s control shall not
be considered defects under this warranty and are not covered in any way by this warranty. USL
shall not be liable for inconvenience, labor, loss of time, maintenance, removal or reinstallation
of the Products or other incidental, special or consequential damages arising in relation to the
purchase or use of the Product. This warranty is void if the surface of the Product is painted or
has had any other foreign material applied to it, other than as specifically directed in the owner’s
manual included with the Product. This warranty does not cover scratching or scuffing of the
Product that may result from normal usage. Any structural modifications to the Product will void
the product warranty, including but not limited to, aftermarket accessories not designed by US
Leisure for the express purpose of use with the Product.

-39-



{STRONG-HOLDTM 10' x 8' Assembly Instructions

usLeisi’

While every attempt is made to embody the highest degree of safety in all equipment, freedom
from injury cannot be guaranteed. The user assumes all risk of injury resulting from the use of this
Product.

The 10 Year Limited Warranty Non-Commercial Applications coverage provided by this warranty
is extended to individuals who are using the Products as homeowners and does not extend to
Products purchased by or installed upon property owned by other entities, including, without
limitation, corporations, partnerships, trusts, estates, governmental agencies or bodies, religious
organizations, schools, condominiums, or co-operative housing arrangements, or installed on
apartment buildings or any other multi-housing arrangements.

This warranty becomes valid upon the date of purchase. A copy of the proof of purchase (a valid
dated receipt from place of purchase) will be required from the consumer for all warranty claims.
In order to assist us in development of other products and to enable us to contact you in the event
that an important product information update is released, please complete the enclosed product
registration card and return it to us. Thank you for your cooperation.

Warranty Claims:

The owner must give prompt notice of any defects to obtain warranty service. Should the Product
contain a manufacturing defect promptly contact US Leisure Customer Service, 1-877-638-7056
Ext. 1 or by mail, 2369 Charles R. Jonas Hwy, Stanley, NC 28164 to register the claim with

a customer service representative. USL will require proof of purchase or a copy of the dated
original purchase receipt, and have a clear photograph of the defective part(s) (or actual part(s) if
requested). USL will, at its option, repair or replace such defective part(s) free of charge, including
freight charges within North America. This warranty is NOT applicable outside of North America.

If requested for inspection, defective parts must be shipped to USL’'s chosen shipping address
that will be provided upon authorization and instructions. When returning a product, an insured
method of delivery with a required signature is recommended. You must pay for all return
shipments, as USL does not accept COD, returns or any additional shipping charges which may
incur on the delivery to USL’s chosen address.

USL reserves the right to discontinue or change any of its Products, including colors, without
giving notice to the purchaser. Should a Product covered by this warranty be unavailable, USL
reserves the right to substitute a product that is of equal quality according to USL’s sole discretion
or to refund the portion of the original price for defective part of the Product reflective of its
original contribution to the cost of the Product.

-40 -



{STRONG-HOLDTM 10' x 8' Assembly Instructions

us Leisure

If the Product is determined to need full replacement, USL may refund the lower of a pro-rata
portion of the purchase price as determined below or the advertised selling price of comparable
Product at the time of adjustment. Pro-rata basis of the price is determined by the following
calculation: 0-2 years of ownership, 100% refund of original purchase price. Over 2 years to 4
years of ownership, 80% refund of original purchase price. Over 4 years to 6 years of ownership,
60% refund of the original purchase price. Over 6 years to 8 years of ownership, 40% refund

of the original purchase price. Over 8 years of ownership to completion of the warranty, 20%

of original purchase price. Taxes, shipping costs, inconvenience, loss of use, installation fees,
incidental or consequential damages will not be covered in the adjustment.

THIS WARRANTY IS GIVEN IN LIEU OF ALL OTHER WARRANTIES, LIABILITIES OR
OBLIGATIONS OF US LEISURE EITHER EXPRESSED OR IMPLIED, EXCEPT THAT THE
DURATION OF ANY IMPLIED WARRANTIES OF MERCHANTABILITY AND FITNESS FOR A
PARTICULAR PURPOSE ARE LIMITED IN TIME TO THE DURATION OF THIS WARRANTY.
US LEISURE SHALL IN NO EVENT BE LIABLE FOR CONSEQUENTIAL OR INCIDENTAL

OR SPECIAL DAMAGES OF ANY KIND FOR BREACH OF ANY EXPRESS WRITTEN OR
ORAL OR IMPLIED WARRANTY ON PRODUCTS. YOUR EXCLUSIVE REMEDY SHALL BE
ENFORCEMENT OF THIS WARRANTY UPON THE TERMS AND CONDITIONS HEREIN
CONTAINED. NO REPRESENTATIVE OF US LEISURE OR ITS DISTRIBUTORS OR DEALERS
IS AUTHORIZED TO MAKE ANY CHANGE OR MODIFICATION TO THIS WARRANTY.

Some jurisdictions do not allow limitation on how long an implied warranty lasts, so the limitations
contained herein above may not apply to you. Some jurisdictions do not allow the exclusion or
limitation on consequential or special damage, so the above limitations or exclusions may not
apply to you. This warranty gives you specific legal rights, and you may also have other rights, all
of which vary from jurisdiction to jurisdiction.

41 -



{STRONG-HOLDTM 10' x 8' Assembly Instructions

Privacy Notice
Effective: 8/1/2006
We care about our customers' privacy. We Do Not Share Customer Information With Anyone.

In order to assist us in development of other products and to enable us to contact you in the event
that an important product information update is released, please complete the enclosed product
registration card and return it to us or visit us online at www.usleisureoutdoor.com to fill out the
registration information there.

Privacy Notice Table of Contents:
* Our Commitment to Privacy
* The Information We Collect
* How We Use Information
* Our Commitment to Data Security
* Our Commitment to Children's Privacy
» How To Access Or Correct Your Information
* How To Contact Us

Our Commitment to Privacy:

Your privacy is important to us. To better protect your privacy we provide this notice explaining
our online information practices and the choices you can make about the way your information is
collected and used. To make this notice easy to find, we make it available on our homepage and
at every point where personally identifiable information may be requested.

The Information We Collect:

This notice applies to all information collected or submitted on the US Leisure website. On some
pages, you can order products, make requests, and register to receive materials. The types of
personal information collected at these pages are:

* Name

» Address

* Email address

* Phone number, etc.

On some pages, you can submit information about other people. For example, if you order a gift
online and want it sent directly to the recipient, you will need to submit the recipient's address. In
this circumstance, the types of personal information collected are:

 Name Address
* Phone number, etc.

-42 -



{STRONG-HOLDTM 10' x 8' Assembly Instructions

The Way We Use Information:

We use the information you provide about yourself when placing an order only to complete that
order. We do not share this information with outside parties except to the extent necessary to
complete that order.

We use the information you provide about someone else when placing an order only to ship the
product and to confirm delivery. We do not share this information with outside parties except to
the extent necessary to complete that order.

We use return email addresses to answer the email we receive. Such addresses are not used for
any other purpose and are not shared with outside parties.

You can register with our website if you would like to participate in a consumer advisory panel.
Information you submit on our website will not be used for this purpose unless you fill out the
registration form.

Finally, we never use or share the personally identifiable information provided to us online in ways
unrelated to the ones described above without also providing you an opportunity to opt-out or
otherwise prohibit such unrelated uses.

Our Commitment To Data Security:

To prevent unauthorized access, maintain data accuracy, and ensure the correct use of
information, we have put in place appropriate physical, electronic, and managerial procedures to
safeguard and secure the information we collect online.

Our Commitment To Children's Privacy:

Protecting the privacy of the very young is especially important. For that reason, we never collect
or maintain information at our website from those we actually know are under 13, and no part of
our website is structured to attract anyone under 13.

How You Can Access Or Correct Your Information:
You can correct factual errors in your personally identifiable information by sending us a request
that credibly shows error.

To protect your privacy and security, we will also take reasonable steps to verify your identity
before granting access or making corrections.

How To Contact Us:

Should you have other questions or concerns about these privacy policies, please call us at
(877) 638-7056, Ext. 1 or send us an email at uslcs@keter.com

-43-



{STRONGHOLDTM

US Leisure, 2369 Charles R. Jonas Hwy, Stanley, NC 28164

Phone Number: 1-877-638-7056, Ext. 1 Made in USA

REV. 04/15 ENG



OSN3 G1/¥0 'A3d

G R (‘'v'n'3 N3 0110S OaITyYA ONO43131)

13X3 ‘950.-8€9-//8- | :01UQ3|9) OJSWNN $918Z ON ‘Asjue)s ‘“AMH seuor "y salJey9 69€Z ‘@insia sn

WLG"IOH'E)NOHJ_S}



_SV-

("'v’N'3 N3 010S SOAITYA ONO43T3L A SOIDIANAS)

W09 19}9)®MSI|SN B 02IUQJ}03[ 081100 UN SOUBJAUD O | ")1X3 9602-8€9 (228)

|e souswe|| ‘peproeaud ap seonjjod sejsa aiqos sapnjainbul 0 seyunbaud seljo sual IS
!SOJ}OSON UOD 3SIBIUNWO) OWo)

"S9U0I008.109 Jezijeal ap 0 0Sa29e a|Jef.I0)o ap sajue pepljuapl
NS JeolliaA eled sg|qeuozel sepipawl sowalewo) usique) ‘pepunbas A pepioeald ns 1ebajold eied

"9]q1240 BWLIO} U J01ID |9 aJ3sanwap anb pnyoijos eun

SOUOpPUEBIAUS [BUOSIad UQIDEDIIIUSPI P UQIDBWIOUI NS US SOJep ap SaJ10.Jd so| Jibaliod apand palsn
:e[41631100 OWODH O UOIDBUWLIOJU| NS B 19P3IIY OWO)

‘'soye g ap sajouswl

SO| e JoeJje ejed epelnjon.isa eise gam oijis odisanu ap aued eunbulu A soue ¢ 9p SaJousw UOS
sowages anb seuoslad sejjonbe ap gam 0O1jIS 0J}SONU US UQIOBWIOUI Sowauajuew o sowe|idodsal
BOUNU ‘0|9 Jod "elouenodwi [eioadsa ap sa SauaAgl sew so| ap peploeAld e| ap ugiooajo.d e
!SOUIN SO| ap pepioeALld B] Uuod osjwoidwo) osysanN

"Joulaju| us sowejidooal anb ugioewuoyul e Jeinbase A uabsajoud eied

SOAIjeJISIUILPE A SOOIUQJIO9|D ‘SOIS) SOJUBIWIPad0.Id opejuswa|dwi SOWaY ‘UgloewLIOUl B| 8p
0}091100 0sn |9 JeinBase A sojep so| ap pnjijoexa e| Jausjuewl ‘Opeziuoine ou 0SaJJE |9 JBJIAS eled
:soje( so| ap peplnbag e] uod osiwoidwon o43sanN

‘'sopeuoloejal

OU SOSN SOYJIp opow 040 ap Jiqiyosd o epntedwod ou Jod Jeydo ap pepiunyuodo e| ajiepulq
u9IquE} UIS 9JUBWIOLIBJUE BIIOSSP B|] UOD EPEUOIOB[S OU BULIO) UD }auJaiu] us euoidlodosd sou

as anb |euosiad ugioedIIIUBPI Bp UQIDBWLIOUI B| SOWIEdWOod 0 sowez|jin Bounu ‘ejuswieul

‘oJjs1ba1 ap oueNwoy |8 8)8|dwod anb
OAJeS Ul 9]S9 eled eJezijiin @S OU gam Of})IS 0J}SaNuU B 8JAUd anb ugloewWLIOUl B "JOPILUNSUOD |e
ojusiwelosase ap [aued un us Jedioiued easap IS gom OIS 0Jisanu us asielisibal apand pajsn

"S0J82J9) U09 uanedwod as ou A uly o010 unbuiu eled uez|nn 8s ou SBUOIVJBIIP SBYdIg
"sowlqloal anb 081109 |9 Japuodsal eied ejsandsal 8p 021UQIIO8[S 081100 P SBUOIDIBIIP SB| SOWEZI|IN

‘opipad ass Jeje|dwod eled euesadau epipaw e us 0}daoxe
S0.19218} U0D ugIoBWIOUI B)SS sowiuedwod oN “ebasus e| Jewsyuod eled A oyonpoud |o Jeinus eled
0[0s opipad un ezijeal opuend euosiad eijo a1qos euoidiodoid sou anb ugioewWIOUI B] SOWEZIIN

‘opipad ass Jejojdwod eled
BLIES909U EPIPaW B| Ud 0}dadxa S019048} U0D UQIoBWLIojUI BISa sowpedwod oN opipad oyoip

Jejo|dwod eled 0jos opipad un ezijeal opuend euoioiodold pajsn anb ugioewLIOUl B] SOWeZI|IN
:ugloewlIoU| B] sowezijiyn anb ua ewo4 e

n5I31 sh
& 2

S|quiesu3 sp ssuoioonisul 8 X .01 at OHONOHLS}



_317_

"0} ‘001UQJS|9) OJBWNN
oljIoiwo(q ‘@IqWOoN

:uos epe|idodal ugloewloul ap sodi} SO| ‘osed 8)s8 uj ‘euosltad ejsa
9P UOIDD3IIP B| JEIAUS BIDQSP ‘OlIBJRUIISSP |B SJUSWE}J8IIP OlJBIAUS Basap A Jouiaju| us ojebal un
apid Is ‘ojdwals 1o "seuosiad seljo 21qos ugiorwIoUl Jeiaud eipod pajsn ‘seuibed seunbje ug

"0} ‘001UQJS|9) OJBWNN
021UQJ}JO8|8 081402 8P UQIDdalIq
oljpiIwoQ g -

9IQWION .

:uos seuibed sejsa us uejidooal as anb jeuosiad ugoewlojul ap sodl SO “sojeLislew
aqioal esed asiesibal A sopipad Jaoey ‘sojonpoud Jejoljos apand pajsn ‘seuibed seunbje ug
"2INSI97 SN 9P gom OIS |8 Ud BpeIAUS O epe[idodal ugioew.loUl B] Bpo} e eolde s oSIAe 8)S]

:sowe|idooay anb uoidsewioju] e

‘leuosiad ugioeolIIUBpPI Bp

uoloew.oul Jeyoljos epand as apuop Jebn| eped us A jpuisiu| us eulbed eljsanu ua ugloisodsip e
sowauod 0] ‘IeJjuooud ap [10B) BaS OSIAB 818 anb eled ‘ugloewloul | ezijin as A ejidooal as anb ua
BWIO} B| 81q0s aual} anb sauoiodo se| A 1auisiu] us ugloew.loul ap seonoeld seljsanu eoldxs anb
OSIAB 9]S8 SowWadaljo peploeAud ns Jolow Jabajolid eied "sosjosou esed syuepodwi se pepioeald ng
:pepioeAld ap osiwoidwo) oysanN

SO0JJOSON UOD 8SJEJIUNWOD) OWOQD)
el41621100 owoD O UQIOBWLIOJU| NS B J9Pa2JYy OWOD) «
SOUIN SO| @p pPEepIoBAld B U0D 0SIwoidwo) 04}SaNN
sole sO| ap pepunbag el uoo osiwoidwon) 0N)SaNN
UQIDBWLIOJU| B| SOWES() OWO))
sowe|idooal anb ugioewIoul B
pepioeAlld ap osiwoidwo) 0J}SaNN

pepioeALd 9p OSIAY |9p 921pu|

‘oJ)s16a. ap ugioewloul e epe} Jejajdwod eled ‘ejsousajaus A ejunlpe ausia anb oonpoud |ep
oJisibal ap ejalie} el 8)9|dwod ‘ojonpoud [ap ugloewloul 8p aluelodwi ugloezijenjoe eun eAey anb
ap 0SED |9 Us ojeorU0D souliiwiad eied A sojonpoud sOJj0 ap O]|0lIBSap |8 Ud soutepnAe ap ul v

"alpeu uod
$8JUaI|0 SO| 8p UOBWIOUI B] SOWIHEdWOD ON "S8jual|0 solisanu ap pepioeald el jod sowednooaid soN

9002/1/8 19p 4Jed e e1ouabia ug

pepioeAlld ap OSIAY

2Jnsid’] sh

@ (7

Slquiesuy sp ssuoionisul 8 X .01 a OH'E)NOHJ_S}



_L17_

‘uoloo1psunl e| unbas uellea sajend soj

‘soyoalap s0J)0 Jaud) eipod uaiquie) pajsn A soolloadse sajebs| soyoaiap e610j0 9 eljuelseb eysg
"0seo Nns e uanbijde as ou ezinb saioldlUEB SBUOISN|OXd O Sauoloe}iwi| Se| anb o) Jod ‘sajelvadsa o
S0}08lIpul SOUBp SO| 81q0S UQIOR})IWI| B| IU UQISN|oxa e| usjwlad ou sauoloolpsunl seunb|y "oseod ns
e uanbijde as ou ezinb ojuswNoOp 8)S8 US SEPIN|OUI SBuOoIoR)IWI| Saloudlue se| anb o] Jod ‘eyoldwi
ejjueseb eun apuanxs as anb |8 us odwal |9 81qos ugioeyiwi| e| udjiwliad ou sauoldIpsLInl seunbiy

VILNVHVYO V1S3 Vv

SANOIOVIIHIAON O SOIGNVD dVZITVIY VHVd SOAVYZIHOLNY NYL1S3 STLINVIOHINOD O
S3HO0AINGIFLSIA SNS IN FHNSIFT SN 3d LNVINISTAdTd NNONIN "OLNINNDO0A

31S3 N3 SVAINTONI SINOIJIANOD A SONINYEZL SOTNNOIS VILNVHVYO V1S3 3d
OLNZINITAINND 13 YH3S OSHNO3Fd OJINMN T3 'SOLONAOHd SOTIHA0S V.LIOITdNI O TvdHO
VL1IM0ST 'VSIHdXT VILNVHVYO HIINOTVND 3A OLNIINITANNDINI 13 ¥Od OdIL NNONIN
3A S3TVIOIdS3 O STTVLNIAIONI ‘'SOLIOIFHIANI SONVA SO 3A I19VSNOdSIH

Yd3S OSYO NNONIN N3 FHNSITT SN VILNVHVYO V1S3 3d NQIOVENA V1V OdINTIL N3
VAVLINIT F1S3 NId OAVNINE313d NN Ydvd dNllildv A avarigviod3NOD 3d VLIOIdINI
VILNVHVYO H3INDTIVNI 3A NOIOVHNA V1 3IND OLd3DX3 ‘SYLIDOITdNI O SYSTHAX3 NVIS
VA "'34NSIFT SN 3A SANOIDVYDITFO N SIAVAITIGYSNOLSIY 'SVILNVHVO SYN3A SV
SVAOL 3a ¥v9ONTN3 vOd0L0 3S (V'N'3 NI 010S VAITYA VILNVHVYD) VIINVHVYO V1S3

‘g)snle |9 U SOLIBIND UBIE]}SS OU SOJ0alIpUl O SB|BIUBPIOUI SOUBP SO| O UQIOe|elsul ap
sojseb so| ‘osn ap epiplad g| ‘seisajow se| ‘0JAUd ap S0}S09 sO| ‘sojsandwil so7 “|eulblio esdwod
ap oivaud [ap %0z ‘enueleb e| teyg|dwod ejsey pepaidoid ap soue g ap sej\ ‘[eulbuo eidwod ap

o19a.d |op oubajulal ap %01 ‘pepaldold ap soue g e soue g ap sey ‘|eulbuo eidwod ap o1oaud |ap
olbajulal ap 9,09 ‘pepaidoid ap soue g e soue § ap sel ‘|eulbluo eidwod ap o1vaid |ap olbsjulal
ap %08 ‘pepaidoid ap soue { e soue g ap sel ‘|eulbuo eidwod ap onaid |ap olbajulal ap %001
‘pepaidoid ap soue g e soue () :0|nojed ajuainbis |9 Uod eulwld}ap s oloald [ap epesiellold

aseq e "a)snfe |ap ojuswow [ ud g|geledwod 0}oNpPOId un ap opeldiignd ejuaa ap oioaud |9

0 ugQIDENUIIUOY B opedlynadss o] unbas eidwod ap o1vaid |op epesjelold aled eun ap oleq sew
ojuow |8 JeiBajuial apand 1SN ‘o1e|dwod ozejdwaal un alsinbal 0jonpold |8 anb eulwisep as IS

5@15"

@ (7

S|quiesu3 sp ssuoioonisul 8 X .01 at OHONOHLS}



_OV-

"0]oNpOo.d |op 0109 |e [eulblLIo ugloNgLIU0d ns alejyal anb ‘o1onpold [ep esonioslep ezaid

e| ap |eulbLio oioa.d [ap alied e| JeiBajulel ep 0 ‘SN Sp OAISN|OX8 OLIB)LID |o unbas sjus|eAinbe
pepijes ep oyonpold un Jod ojieze|dweal ap oyoslap |o BAISSal 8S SN ‘Ojqiuodsip eisiAnise

ou ejueleb e)se Jod opsIgno 0)oNpold [@ 0sed ug "Jopeldwod |e oirsid OSIAB UIS ‘S8.10]09 SO|
opuaAn|oul ‘sojonpold sns ap elainbjeno Jeiquied ap o Jidwn.isjul op oyoalep |0 BAISSal 8s SN

SN Jod epibaje ugoalIp

e| e ebasjua e| ua Jiunoul epand anb |8 usa |euoldIpe ojAuS ap 0BJed 0410 unbulu JU SBUOION|OASP
‘osjoquwiaal esu0o obed eydace ou 1SN anb eA ‘sojanasp sojaua so| sopo} Jebed elagap

pajsn "ewly e| eJdinbai anb efasua ap opeinbase opoow un Jesn epuaiwodal as ‘ojonpold un
BAJONASP OpuBNY) "SauoIooNJsuUl se| A ugioeziojne e| uod eteuololodold as |end el ‘g Jod epibsja
OJAUD Bp UQIDDalIp B| B JBIAUS UBgap 8S Sesonjoajap sezald se| ‘ugiodadsul eled B)I0I0S 8S Jse IS

"BOLI9WEALION ap eJany eoljde as ON ejjueleb e}s3 "eduUdWeaLOoN ap 0Jjusp al8|) ap

sobueo so| opuaAnjoul ‘0bued uis (s)esonjosyep (s)ezaid eyoip elezejdwaal o eieiedal ‘0lB)IO NS
e ‘1SN ‘[enolos 9| as Is (sa)|eal (s)ezaid (s)e| 0] (s)esonyoajap (s)ezaid (s)e| ap ele|d eleib0)o)
eun Jaugj eiaqap A |euiblio opeyos) eidwod ap oqioal [ap eidod eun o esdwod ap eganid eun
eJllanbal 1SN "8jusId |B OIDIAIBS Bp djuejuasaldal un UOD Owedal |8 Jejuase ap Ul e #9182 DN
‘Aojuels ‘“AmH seuor Y sslieyd 69¢z ‘UI0aIIp djuaInbis e us ‘081109 Jod 0 ('Y'N'3 NI OT10S
SOdINMYA ONO43T13L A SOIDIAYIAS) | X3 950/-8€9-2/8-) |e ‘@Ins|a SN ap 8jual|o [e OIIAIBS
[® UOD OleIpaWUI BP 8Sanbjunwod UQIoedLIge) 8P 0}09)8p UN aualjuod ojonpold |9 IS "elueleb

ap O0IDIAJIBS |9 Jaua)qo eled 0109)0p Jainbjend ap ojelpawul osiAe Jeuololodoud agap ouejaidoud |3
(('v'N'3 N3 0710S VAITYA VILNVY VD) ejjueies) ap sowe|oay

‘uoloeladood ns Jod seloels) “e|sousajaua A ejunipe auaia anb ojonpoud |ap oJsibal
ap ejalie) e a19|dwod ‘ojonpoud |ap ugioewloul 8p djueuodwi ugioezijenoe eun eAey 0sSed ua
ojiejoejuo9d soudiiwiad esed A soyonpoud s0Jj0 8p O]j0LIBSap |@ Ud soulepnAe ap ul y "eiueleb

ap sowejoal so| sopo) eted (esdwod ap Jebn| |op opijeA opeyds) oqidoas un) eidwod ap eqganud g
ap e1doo eun IopILNSUOI |e ellianbal 85 "eidwod ap Byod) B| Ud zaplleA aiainbpe ejjueleb ejsg

‘o|dijnw epusIAlA ap odl} 0110 n sojuswellede ap SOIoIIPS US SOpe|eISuUl UdI] O ‘SeAljeladood
SEPUBIAIA O SOIUILIOPUOD ‘se[andsa ‘sesolbijal sauoioeziueblo ‘sajejusweusagnb sayus o

selouabe ‘sope}sa ‘SOI0I0SU0D ‘sapepaloos ‘sauoloelodiod ‘e uejiwil 8s ou osad uaknjoul 8s anb sg|
aJjud ‘sapepiua seljo ap pepaldold e| ua sopejejsul 0 sopesdwod SO}NPoId SO| B 9pudlIXa 8s ou

A sajelpuapisal solejaidold owoo s0}Npold SO| uesn anb seuosiad se| e spuaixa as ejjueiehb

e}sa Jod ejsinoid soue (| Jod epelwi| ejjueleb uod s9jeIoIawWod ou sauoloedldy ap einuagqod e

"0}]0Npo.Id 8)s8 ap osn |9 Jod sepionpo.d
sauolIsa| ap obsall |9 0po} SWNSE OLIENSN |3 "SBUOISA| 8p elouasne |e}o) e| Jezijueseb apand as ou
‘odinba |8 opoy us pepunbas ap opelb JoAew |9 Jeinooud eled sepipaw se| SEpPO} UBLWO) 8S Ualq IS

® ( 7

Slquiesuy sp ssuoionisul 8 X .01 a OH'E)NOHJ_S}



_69_

'0Jonpo.d 9)se
uo9 osn |ap osaidxa ul |9 eled ainsia] SN Jod sopeussip ou ugIdIsodal ap SOLI0Sadoe ‘B uewl|

8s ou oJad ‘uaAn|oul 8s anb se| asjus ‘ejjueleb e| eiejnue 0}oNPOId |9 |BINJONIISS UQIOBIIPOW
Jainbjen) ‘jewlou osn |8 Jod asJionpoud uepand anb 0jonpold [ap sounBsel soj Iu opejjoge |8
a.qnd ou ejjueleb B}s3 "0}o0NPoId | UOD OpINOUl OLIBNSN [9p [BNUBW |8 Ud ajuswedljoadss eolpul
9s anb 0] ap sewape ‘ouelIxs |eLIdlew 040 Jainbjend goljde 9] 8s IS 0 0}oNpo.d [8p dIolIadns g
ojuid as Is ejnu sa ejjueleb B)s3 "0}oNpoId |[9p Osh |e 0 eidwod e UOD ugioe[al us asalbins anb
0}0alipul O [e1oadsa ‘|eluapioul ouep 0410 P IU SO}ONPOI SO| 8p UQIoe[BlSulal B O UQIDOWaI B|
‘ojusiwiuaiuew o ‘odwsaly ap epiplad g| ‘oleged; |o ‘enssjow e Jod ajgesuodsal BIaS ou SN ‘opow
unbuiu ap eyso Jod sopsIgnd ue)sa ou A ejjueleb B)S8 B SWIOUOD S0}08)9p UBIBISPISUOD 8S Ou
‘1SN op |04ju09 |e uededss anb sesned Seljo A OwWsIfepuUBA ‘Sgjelnjeu SOUSWOoUd) ‘aiquiniiay
‘soolWnNb ‘sajuBUIWIEIUOD ‘0IPUSdUI ‘UQIOBPUNUI ‘BJUS|OIA BluBWLIO) 8p odi} 0410 ‘uedelny

‘opeulo) ‘oziuelb ‘souesixa soyalqo ap ojoedwi ‘opendspe OjusiWIUSIUBW 3P BB} ‘9jusplooe
‘o|geuozes ou osn ‘ugioessyje ‘epusbiibau ‘osnge ‘osn [ew Jod opionpoud ojusiweuolouny

[BW 0410 N SO}08Jp ‘SoUep ‘se|e) SBT "Bpe|dAIu a1011adns e ap Saol10alIp Se| B ‘Uelili| 8S Ou

oJad ‘uaAnjoul anb ‘sauoiooniisul se| unbas eyuow as ou ojonpold |8 IS ejnu elas ejjueleb ejsg
1SN Jod sojsinoid ou sajenjonsse sajusuodwod A sezaid uezijijn as IS enu s8 ejjueleb eys]

"S0)S9 B apualxa as 1u eolde as ou ejjueleb Bjsa A ‘B}081100Ul 0 BSON}D889p UQIoe[BISUl O
erouabibau ‘osnge ‘osn |ew |e ‘ugloe}iLI| UIS O UOD Usuoloe|al 8s 0 uelins anb ‘souep o 0j08j8p
‘e|le} eunbuiu ap ajgesuodsal BJaS oU SN TSN Op |0Jjuod |e uededsa anb s8|B00| SBUOIOIPUOD

seJjo ap A 0jonpold |8 ejejsul as anb e| ua pepaidoid e| ap eoleiboab ugioeoign e| ap

‘alie [ap pepljed e| ap spuadap sews|qoid so)se ap pepaelb e -aoadns ] us seyouew o
pepalons ap ugloe|nwnoe elainbpe o ez} uod anbJjew as ‘e0zalndso 8s ‘eulsap 8s epealo|jod 0
epejuid apiadns Jainbjend anb Jeooaold uepand anb sewasixs elsjsowie A seinjesadwa)

e A ejojoinedyn (Jejos) zn| e ugioisodxa eoyiubis ewlou aysebsap, oulwig) |9 ‘enueleb

B]SO 9p S8ul} SO| eled "(sojuawa|a so| e A |os |e sajaued so| ap [enbisap ugioisodxas e| Jod
sopionpoud 10j02 ap soiquied So| A awJojiun ou opluaisap |8 opuaAnioul) ejjueleb ejse ap
SOpINjoXa ue)sa [euwlou a)sebsap e opigap J0jod ap olquied usjuasald anb sojonpold soT

‘ojuswnoop 8)se us opejndisa o] unbas

7SN @p uolodo e sojonpold soj ap ozejdwaal |9 A 1SN ap pepligesuodsal e| eydaoe pajsn
‘sojonpold so| ap osn |8 A ugioejdase e| uo) “ejjueleb Bisa ap SaUOIdIPUOD A SOUIWID)

SO| B 8WJ0ju09 ejueleb ejse Jod sepsaignd s0joNpold SO| 9p Se|je) Se| Sepo) elads|gelsal
0 elezejdwaal ‘elesedal SN 'SO|LIDIBWOD OU sauoloedl|de us esn s 0}onpold 9 1s A
0jonpo.d |ap [euibuo Jopeidwod |9 eas pajsh anb aidwsals soue Q| ap opoliad un asjueinp
elousbin us eiadsuewlad ejjueleb eys3 ‘ojonpoud [ap 0osn |8 uejosje anb sauoinoauadwi
SE| OWO9 duldp S ,S0}09Jap, OUIWID) |T 'SalolIadns Se| 8p [BWIOUE 0JUSIWEIO|0D3P [8 O
opejjodwe |o ‘opebadsap |9 ‘OpeIedSeIsap |9 ‘UIS0.I0D g| ‘ugloisodwoosap e| ‘oanbue |9
uanbonold sajend so| ‘elqo ap ouew e| ua A s9|elsjew SO| Ud S0}08)ap ap Salql| ueielsad
A ue)se S0JONP0.Id SO| ‘0JUBWINDOOP 8)S8 U SOPIN[OUl SBUOIDIPUOD A soulwid) so| e 0jalns
‘anb ‘(,$010NpoId, SepeulwWoUap sjuejepe uad) ealge} 1SN anb euisal ap ojusiweusdew|e
9p SBU0I20NIISU0I Se| ap |eulblio Jopeisdwod |9 ‘paisn e eziuelseb 9| (,ISN,) ‘@INsIv] SN

("W'n"3 N3 010S VAITVA VILNVYVD)
souy (| Jod ajqliajsueld] ON epejiwi] eljueIes

2Jnsid’] sh

@ (7

S|quiesu3 sp ssuoioonisul 8 X .01 at OHONOHLS}



_89_

by

O~

14

1N

‘uelezi|in as
ou anb (4d) enxs jsued
ap sauode| sop uahnjoul 8

'V LON .

,&
.

(dd) 1ued ep uode] - ¢

%
»

:aJainbal osed 8)s3

"'S800A ¢ Jnadal agap as osed 8)s]

"BJ|aNA ap v/, soja.ib A (dd) |oued ap sauode| so| auasu|

‘e|| osed

sa|jeJjua) sauode] uoIdJaSU| 1L | OSed

Slquiesuy sp ssuoionisul 8 X .01 a OH'E)NOHJ_S}



_Lg_

ALAAAAAY

A

2T

W

AL

\
i

A\

dl

\

(d7) epend ap ojjised op Jopesed - Z

\

‘osed 8]se ap SOLI0S8VIY

"(QY) eyosiag epend e| ap
|[oued |op Jousjul 8 Joadns ayed e| ap einb e| us (47) euand ap 0]|11Sad |op Jopesed [ 8211saq °|

‘POl osed

S|quiesu3 sp ssuoioonisul 8 X .01 at OHONOHLS}



1d

M)

2

\\‘
,///‘>\\,\\,\\'—=
‘m‘\

AHATAAAAAN

W\
\\i\/\\\/////////////
@m

NN

MMM

wo 0G') X 9#
sdijliyd zageD ep Ojiuio] -

£

‘osed 8]$o 9p SOLI0SB00Y

"0S90X8 U d)aude ON "Wd 0G| X 9# ap sdijjlyd ezeqe) ap
SO|luUJo| So| opuesn ainbase A eland ap opJainbz| jaued |9 ua (7Q) euend ap oloua) |9 821seq ‘2

"'0S99X3 Ud djalde ON "Wo 0G| X 9# sdijjiyd ezeqe) ap
SO|luJo| SO| opuesn ainbase A eland ap oyosaia( [dued [@ ua (HDT) Buand ap ojnsad |9 9211seq |

190} osed

Slquiesuy sp ssuoionisul 8 X .01 a OH'E)NOHJ_S}



_98_

)

AR

\\\\\\

T

4

%

"ugIaIsod NS Ua SOj|IuI0} SOj
einBase euosiad eijo e| senuaiw
eibesiq e| us ejsando ugisaid
Jealide agap euosiad epunfias eun
"UQI0B20]09 BJed 0j0s Uos seibesiq
Se| ap ugisaid e sauojun seT

‘V1ON

wo 06°'L X ZL# sdiliud
Bpewo|y ezage) ap Ojjiulo] - 9

e

:0sed 9)s8 ap S0LI0S800Y

‘epand eJjo g| eied osed |o ejiday

"wo 06} X ZL# sdiliiud
epewole ezege) ap SO||IUI0| OPUBSN BlaNd B| 8p UQZBULIY |e Ope|quiesus euand ap |aued |e ali4

:q0} osed

S|quiesu3 sp ssuoioonisul 8 X .01 at OHONOHLS}



_vs_

WoQpLXZh#  WO0FLXZLH
sdijiyd epewoly  sdijiyd epewoly
1274510 %) e754R)
spojjuoL -z} apojjuo] -8

<l o

:0sed 8)S8 ap S01I0S8IY

‘sepand seque esed osed |9 elday ¥

‘wo 1.8°¢ X Z1# sdljliyd ezegqeD ap so||luo| uod

ejainbase A (HQ) enand e| ap Joua)x3 ellue e| UOD B|OPURJISUOD
‘epand e| ap [aued |8 usa (q|) eUBNd B| 8p Joudlu| eliuely e 821seq "¢

'S900A (g) sau) osed 9)so ejiday

(o oc- A
G’} X g# sdiiud ezaged ap ojjiuio] - . .
O Sl e O wo 06°} X ZL# Sdilliyd epewoly ezage ap Soj|iuio]
sdijud epewoly ezaqe) ap ojjluio] - § opuesn ejainbase A uoioisod ns us (H) euand e| ap elbesig e| eun g

wo 06') X 1# sdiiud

BPEWO|Y BZ8Ge) 8P Ol - 7 .
(HO7) exand 8p ojlnsad - | enand e| ap |joued |ap Jousjul 8

(7@) euend ap olous) - | Jouadns aped e| ua (dQ) euend e| p sauode] so| eun A a21jseq |

(d) evend ep o|jnsad 8p Jopesed -
(HQ) ewand ap Jousix3 efluep -
(1) euend ap Jouayu] eflueyy -

(H) eWand ap eibesig -

(d@) exend ap uode] -
:alainbal osed 8)s3

\- J

:eQ| osed

oANNAN

eliand e| ap ajquiesusg :Q} osed

Slquiesuy sp ssuoionisul 8 X .01 a OH'E)NOHJ_S}



_98_

(00K

B

() 3 :
e

TP

i

OO v

O

NI
N

/7

e

W

q
V'

WS

A

)

AN

-

fé

W

.z

WX

AR
S
e NN

I /- N\
| 7 o330 0 TS0 50T
7 SwanmndN OHS%dJmN
/ S8 2TE TP
( 7 ODDY = 2. QB O W
( L =0 oL < asa
S>pQ o= Soes 335338 =-
mnlmsel. B neppqn
&3 dSUV U.JGGEUV
o= Al S—® =9 Qs
=35 [ =N F R )
L M&SBS Nspmed
L —
\ vco .2 IS5 6008
A\ TN T PS5 oS
=390 n|b.|0 A.UDU
(O =] 0,% —~ 5
\) S @ SP? 0Ny o
N< D D 9p9u|9
W\ Cs5o» S5
oo w—1332,
Q=3 c®S F°3
[SR LN O_m.n.UU =
- () 0 = Q
[72] [S2= 2~ Q
w =

|
|

:eg osed

S/

(‘epeinboase uogioisod ns

us uolun e| Jeuasul eled uoisaid Jeoljde ap sejue Jesule aqop
WL

"0y09} |o Jeuiwua) ejsey sa09aA (9) sios dijadal agap s osed 8)sg
as uglun e7) ‘uoloisod ns ua ainbose as anb ejsey znjebel |
|2 eloey ojalndwa A einb ns ua (4y) oyoa] |op |sued |8 9211saQg
oyo9d] |9p 9|quiesu g osed

d|quesug ap sauoonisul 8 X 0l A TOHODONOHL

|

(d¥) oyos L ap jsued - 9
:alainbal osed 8)s3

|



_Zg_

04444

RO
A

....“‘S.MW%WMW%WM%VMQ ”

.
L,

A
OORRKK)
(i

i

T

\ _,A_, — 0
/\A\ »f\f J
\' 7/
. 7. ===\ \\

\Yl &
/.}\\.V.

V10 NJ

ud

wo 06'} X Z4# sdily
BpBWO|Y BZage)) ap

SOJ|IUI0} SO| B UQIIBSUI (108}
eun eled pased e| ap 0jsando
0pe| |9 81qos ugisaid Jeaide
aqep euosiad epunbas eun

|

|

BpeLo]y Bzege) ap ojjiuio] - 9

sed 8)s8 8p SOLI0S800

d

wo 06°} X Z4# sy

|

epewoly ezege) ap SOJ|IUI0) 0j0S OpUBSN |Beluol4 8]8|ges) |ap ajquesud |e (SO) 818|qes) |ep auodos |o ali4

‘WO 06°L X ZL# sdiliud

:6g osed

s

WL

9lquesuy sp ssuooNiSul 8 X .0l A TOHODONOHL




_LS_

o éwnlm/v/

/

V7%

N

N &

),

\ ==
s«\i&\_\\\

=W
MLEIRANHAR

\¢

=

0 ey —
N/ —>
Y/

\p—
B/

i

:Jg osed

S/

paled e| ap aje|qes |ap auodog |8 821se(
WL

)

9lquuesu3 sp sauoponisu| 8 X 0l A TOHODONOHL

so| ainbase A ugioisod ns us (SOM

(SOM) paied e| ep

a)9|qen |op apodog

27 Y
= — o
dmN D
» 3 b4
H =
o O S
o =.
X %
)
8% o3
o @D D
3N D
p= (72]
S @
W. e}
® 7
o

|

‘olege sopeaipul saiebn| () 0Jjend soj us wd 06| X ZL# sdijjilud epewoly ezage) ap SO||Iuio |




_Og_

i

)
Y
szo

)
i
A

N W
N

{000 o\s

)
A0 )

i

o

/

,\A,

v

V

\
V'
\

»Il_l —
o

1

WO 06°) X 0L sdiiyd
B|SpuBly 8p BZage) ap Oj|Iuio] - ¢
osed 9)sa ap S0LI0S800Y

L

"wo 06°} X 0L# sdllliyd elepuely ap ezage) ap SO0 () osjend

opuesn JoLsisod A |ejuol4 saja|qes) so| e (SY) oyoa | |ap seuodog so| 8199u02 obanT

:0g osed

s

WL

9lquesuy sp ssuooNiSul 8 X .0l A TOHODONOHL




b
)
yih
M=
Ao

0

0 :

()

..w,? z:\\..“../ | émlﬂ |

S
i W
\

K

)
MY £

TR

7
i

6¢ -

T

7/

pepunBag ap ejapuely - Z\L

e

N IS =)
— 5o o
=1 @ 3 D
> o = (72
= (U o
2 AN
) S
L 8T
of Hec e
& SN
8 = @
) 9 ol
& 3
2 g
= 8
o

‘[oued eped ap Jouadns ope| |9 us 0onse|d ap SOojjiulo] () sop asnly ¢

‘wo 06} X lL# sdiliud

BZ8ge) ap SO||IUI0] OpuBesn J0LIBISO4 8)8|ges) |e Jepueiss ajue)sa |ap [BJ1uad ugisuslxe e| aysnly °|

:pg osed

s

AL

9lquuesu3 sp sauoponisu| 8 X 0l A TOHODONOHL




_gz_

NN

N

T

A

L

90 =
S

gy .

4

(90) [enua) sje|qeD

[op [9ued |op Jouadns ayed

B| 81q0s ugIIsod ns us ugisa.d
e uanbo|0d as ()S) znjebe. |

[9p Sowa.x3 so| anb ajuepoduwl
$9 ‘0]091102 3|qWESUS Un Bled

‘V1ON

‘leqjua) s)8|qes) |ap [aued |op Jolladns sued e| aigos ugioisod ns us
(MS) znjebel] |op sowanx3 so| ugisald e eun ‘Jebn| ns us Ug)se sal8|ges) so| anb zaA eun

:0g osed

Slquiesuy sp ssuoionisul 8 X .01 a OH'E)NOHJ_S}



_LZ_

T

|

‘salolie)sod A sajejuol) sepaled se| 81gqos ugioisod ns us opejquiesuD 81e|ges) [ ugisaid e eun A 8olsag

"epugisy

ajue)sg |ap auodog [ap [enus)
UQISUBIXJ B| 810S BJeZI|S8p 8s
0LI81S0d 8)8|qes) [8p 8|quiesus |3

‘V1ON

|

:qg osed

S/

AL

9lquuesu3 sp sauoponisu| 8 X 0l A TOHODONOHL




\

.\ P

‘o[ege BloRY OpeIUsLIOo

Ieysa 8qap 8)sg ‘(99) [eAUSY
aja|qe9 [ap [aued [8p (0907)
euJa)xa a)ied e Jejquiesus eled

‘V1ON j

_93_

"S908A SOp Jezijeal agap as osed 8)sg

‘einBas ewio} us ugisaid e ueun as anb eisey opejquiesug

819|qeo) |ap 8lue]ST |e sope|quiesu] 818|ges) |9p Se|eued SO| 8198U0) ¢

-

-

wo 06'} X Z4# sdiiud )
epewo|y ezage) ap Ofjlulo] - 9|
(S9) 818|qe9) [9p B)0doS - |
(Sd) oonseld ep ojjiuio] - Z1
(SS9) opo) sjueyss -

'(8S9) ouo) ajuelsy un A (S79) obie] syueis3 un uoisald e eun g

‘uoloisod ns us (97) opJtainbz)

a)9|qe9 [ap [dued un A (9Y) oydaleQ 838|qeD |op |sued
un uoisalid e eun A (olege eioey epejusalio eula)xs ayued g|)
osid [ 81qos (99) |eiua) a9|ges) |ap |sued |8 anbojo) *}

(S79) obie7 ajueysy -

(99) [e5jua) e18|qes) |ap |aued -
(97) opaainbz] sje|qes) [op [eued -
(9¥) oyoaia( a18|qes) |ap [sued -

NN AN NN

:aJaInbaJ osed 8)s3 )

oy29] |ap 9)9|qes |9p d|quiesu] :g osed

:eg osed

Slquiesuy sp ssuoionisul 8 X .01 a OH'E)NOHJ_S}



_gz_

<>

(0
N
Y

)
!
!

K
g%
%s%
"

N
e
OO0
e
K

()
i
0
.

/)
'f:*
‘ﬁg

AR

N
7l

DN
NN

[

"uoIo1sod ns us 0yos)
[op UgzZew.e |3 Jea0j0d A Jejuens)
eled seuosiad sop UBYIS898U 85

‘-V1ON
Wd 09'08p WO GE'E X WO 09°0 op
[euobexaH [euobexaH ezaqen M v X
Balen] ap ojjiuio] - R
aa—{)
-osed

98]S9 8p SO1I0S820Y

WO GE'E X WD 09°0 ap [euobexaH ezege) ap SO||IUI0] OpuesSn Sa28A () 041end Jnadal 8gap 8s UQIXaUOod Bl

‘(SS) Jepueisg sjueisy |op auodog |e sopelalns (Do) paled el ap elajeuR) B| 9p S810}08U07 SO| B 0Y28] |ap
uozeuwue |8 Jeli agap euosiad epunbas g| ‘1ebn| NS us UQZeWI. |8 8UsNSOS BUOSIad BUN SEIUSIN

‘G osed |8 us
sope|quiesus paled B| ap Bls|euB) B| 9p S810]08U07) SO| US BIBZI[SSp 8S 0Yda | |[8p Uozewly |3

‘uoloisod ns
ud 009} [9p ugzeuwle |8 Jed0|0d A Jeyueas| esed seuosiad () Sop uejsad’su 8S jVIONILYINAY!

:9) osed

S|quiesu3 sp ssuoioonisul 8 X .01 at OHONOHLS}



(olege apsap ejsin)

‘009 |9p uozewly | us uoiisod ns us ugisaid e ojopuansw ope|quiesus znjebel] |9 8198u0)

:p. osed

(e :
"BJesn as ou anb eujxa (4S)

znjebel] ap uode| un aknjoul 8S

\ :VJ.ON/

a )

‘(@1 A gy) seuwand sej ap J0j09
owsiw [ap sa znjebesy ap uodey |3

:VJ.ON/

-

(dS) znjebeu| ap uode] L\

=

:osed 9S8 ap S0LI0S800Y
J

‘(MS) znjebel] [ap sedued () sop so| eun

Wwo 09°0 ap |euobexaH eoian] -
WD GE'¢ X WD 09°0 8P "(MS) znjebeu] [ap |sued |9 us (4S) znjebel] ap uode] |8 adiseq

leuoBexa ezage) ap OjjluIo] - ¢
(ds) znjebes ap uodey - | oG @p ojnbue un e znjebel] |op |oued |o anbaid o ajqoQ
(MS) znjebes] ap joued - g

:aJeinbal osed 9)s7

1] osed

Slquiesuy sp ssuoionisul 8 X .01 a OH'E)NOHJ_S}



_SZ_

‘ezaid e|0s

BUN 8p Ugzew.e un opue}e|dwod
(SY) oyos | [ap selenua)
sepodog so| ueIeaU0d osed 8)se
9P S8JeUl S9|qIESUS SOP SO7

‘V1ON

wo090dp  WOGEEXWI090
[euobexaH ap |euobexaH
BJJON]  BZ8Qe) 8p Of|Iuio]

«m«:@

:osed 8]$e 9p SOLI0SAVIY

"ezald B|0S BuN 8p UQZeW.Je Un OpUBW.IO})
‘(SY) oyoa| |op solesiua) sau0dog sO| ueielOaUO0D osed 9)se ap Sojeul S9|qUIESUS SOp SO

'S900A (§7) 0J1end aijadal agap as osed 9)s]

'(gy) oyoo] eied ugzeuwly [9p |elUNd |[9P SOPE| SOqUie Ud WO GE'¢ X WD 09°( ap |euobexay
BZage) ap So||lulo] SO| opuesn (SY) 0yoa ] |ap $80dog SOp SO| 9198U09 A SOIOILIO SO| dauUlly

'(0Y) oyoa] esed uozeuly |ap elojeue) e| e (gy) oyoa] elsed ugzewuy |ap |Bjund un ayalng

:q. osed

S|quiesu3 sp ssuoioonisul 8 X .01 at OHONOHLS}



_ZZ_

wo 09°0 op Wwo /g’ X WI 09°0
[euobexaH ap |euobexeH

BOJoN|  Bzage) op Oj[iuio]

B a)

:0sed 918 ap S0LI0S800Y

-

-

(gy) oyos] eied ugzewy |ap |eyund -

WO GE'E X WD 09°0 3P "\

|euobexaH ezageD ap O|Iuio] -
W0 /g7 X W0 090 8p

|euobexaH ezagen ap oj|iuio] -
(dS) znebes ap uode] -

"(Z X) s@00A sop Jezijeal aqap as osed a)s]

WO /gL X Wo 090 op |euobexaH ezaqen
ap so|jiulo] () onend A (D 1) uozewly |ap J0}08UOY [ UOD oun|
(DY) oyoa| eled ugzewly ap selsjeue) (g) sop se| 8108uU0)

(MS) znebel] -
(S¥) oyoa] |ap snodos -

NN WON~— <

(D1) uozewuy [ap J0jo8UOY -
(0¥) oyos L
eled ugzewly [op elsjeue) -

:aJaInbaJ osed 8)s3

e/ osed

0Y239] |9p uozewuy |9 Jejquiesus :/ osed

Slquiesuy sp ssuoionisul 8 X .01 a OH'E)NOHJ_S}



_LZ_

\

N

opJainbz| o1olLIO |8 Us 0j9)jIuIolY

wo 8¢ X z1# sdijiiyd
epewoly ezage) ap o|jiuio] - ¢

<ty

‘0sed 8)se ap S0LI0S800Y

"Jepue}sg ajueisg |ap sauodos so| ap soj|iuJo} so| eted oplainbz| ope| |ap SOIDIIO SO| opuesn
pased e| e Jeysnle agap as A uoioisod ns us 1ed0j00 8gap 8s (SS) Jepueis] sjueisy |ap suodog ownn |3

109 osed

S|quiesu3 sp ssuoioonisul 8 X .01 at OHONOHLS}



/)

8qap euosiad epunbas eun

‘V1ON

= / \ ,
EES =
— Zl=ls= :
Z==S =
(SS) Jepuelsy % é § | I
O et S=
6isand6|6r;é| o ua ugisaid Jeajjde \ . T ;/ ;%}

il

-

-

wo 8¢ X z1# sdijiiyd
EpeWo|y ezage ) ap O||Iulo] - 6

opJainbz| & oyosaieQg oyoala( oyUO
qzmm:@ SOOI SO| Ud 3|[1uIo)y |8 ua ajjiuioy

‘osed 8]se ap SOLI0S8V0Y

"(39) sepueys3 ugisusix3 el A (SS) Jepuels3 sjuels3 |ap
souodos so| ‘wd 09 op |euobexaH Bzage) ap SO||IUIO| SO| OpPUBSN ‘9]08U0)

:q9 osed
wo09'0ep WO /| X W (090
[euobexaH ap |euobexaH
edlen]  ezage) ap o||iuo|
(X
B aa)
:0Sed 9)$8 ap S008I0y
'(3S) Jepuejs3 ugisusixg e
A (SS) Jepuejs3 sjuels3 [op soH0dOS SO ‘WD /2L X WD 09°0
wo 18'¢ X2l ap [euobexaH ezage) ap SO||IuJ0| SO| OpuBSN ‘9]0auo0))
sdijliud epewoly ezoqe) p SojjIuIo] - 6
5 Wwo JZ'L X Wo 090 9p :eg osed
|euobexaH ezaqe) ap oj|iuio] - |
(3S) Jepue)s3 uoisuelx3 - | ojsjdwo) sjuelsy |op
(SS) sepue)s3 sjue)s3 jop spodos - 2 Jepuejsy ayodog |9p djquiesuy :9 osed

:aJainbaJ osed 8)s3

Slquiesuy sp ssuoionisul 8 X .01 a OH'E)NOHJ_S}



_6L_

O

)
\J

\\“'
7/

J
____\J

NZN
TR

[,

T
N
Y

)\
)
N

v

1 AR
£\
N/

~\-
7/

NN

/)

il

// /L

. \ = ’
o s
\ |

(SS) Jepugis3 sjueis3 [op
$8)10d0g SO| 8p UIdIBSU| 198}
eun eled paied e| ap ojsando

ope| | us ugisaid Jeojde
agap euosJad epunbas eun

‘V1ON
8 X

Wo 8¢ X Z#
sdiliyd ezagqe ap ojjiuio] - 8

<o)

‘osed 8)se ap SOLI0S800Y

oyoeiaq oPYLO

's0]sIn0Jd SOI01IO (§) S8J) SOj Ud WO |L8'¢ X ZL# sdijjiyd ezeqe) ap soj|lulo] uod sojgisnle A
uoloisod ns use (SS) Jepueisg ajue)sy [ap sepodog SO| opue|qUIBSUS BNUIUOD

:9G osed

S|quiesu3 sp ssuoioonisul 8 X .01 at OHONOHLS}



_8L_

T

¢

"ZaA | e oun ‘paled e
e Jeysnle A Jejquiesus usgep as
Jepuejs3 ajue)s3 [ap selodog soT

‘V1ON

A

(SS) Jepugis3 ejueis3 [ap sspodog
S0| 9p ugloJasul [1oe} eun eled paled
€| 8p 0}sando opey 8 us ugisald
Jeaide aqgap euosiad epunbas eun

‘V1ON

‘<

) b0
wo |8'¢ X ZL# 00
sdijliyd ezeqe) ap sojlulo] - ¥ v X
Q
””@ @ 4’ 0

o ﬁd’
:05ed 9)$d ap S0LI0S8Y ‘“/‘ “
4 l

oyosia( oPLLO

'sojsinoid soiollIo (€) saJ} Soj us Wo |Lg°'¢ X ZL# sdijjiyd epewoly ezage) ap
so|luio] uod sojaisnle A ugroisod ns us (SS) Jepuelsg suelsg [ap sauodosg so| anbojo)

:qG osed

Slquiesuy sp ssuoionisul 8 X .01 a OH'E)NOHJ_S}



_LL_

"BoJaN} A o|[1uio} uod (SS) Jepueisg ajuels] [op auodog

wd09'08p  Wd g} X W (090 9p

[euobexaH [euoBexaH ezage)
BoJoNn ] ap ojjluio]
X
&  am)
-osed 9158 B SOLI0SE00Y sa29A (f) os3end osed a)se ejiday

‘(% X) Wo /7' X Wo 09°0 [euobexsH ezaqe) ap soj|iuo]
uoo (SS) Jepuejsg sjueis] [op sellodog soj e

/ wd 090 op |EU068X9H edlan| -V\

Wo 1g'¢ X Z14 ap sdifiud (D9) paled k| ap eojeue) k| ap J0}08U09 |8 318lng
e|apuely 9p Bzage) ap OjjIuio] - Z| .
5 W /g’ X Wd 09°0 8p ‘eGg osed
|euobexaH ezaqge) ap o||Iuo] - ¥ eJlale1 awueas -
(SS) sepugls3 sjuejsy fep aHodos - ¥ I Je] |juelsy |9p
(09) paled 8p ElBJRUED Bl 8P 10}08UOD - Jepue)lsy sajiodog so| Jejquiesuy :G osed

\ :aJaInbaJ osed 9133/

S|quiesu3 sp ssuoioonisul 8 X .01 at OHONOHLS}



_9L_

oleqy eloey
991|seQ

/

>

/

)

'
’0

\)

i

)
:
)
W
b

T

AN
B/

t,
)
‘:‘
0!

N

%
¢
i
i
)i

{

'
{
|
o
0

,
)

)
%

\

‘oleqe eloey

SOpE)USLIO Je)se usgap
seuinbsa se| ap soinfag
S0| ©p SOYOUEBS) S0

=

"(70) seuinbs3 se| ap soinbag so| /
ap uoIoJasul [19e} eun eled pa.ed
Bl ap 0)sando opej |8 us ugisaid
Jeajde aqap euosiad epunbas eun

‘V1ON

N

L
\&\

I

"‘epeinbase ugioisod e| ejsey sojopuezijsap (g X 79) euinbs3 e| ap soinbag so| auasuy|

‘(z X) pepunbag ap sejgpuely sg|
K (z X gd) 0onse|d ap so|jiuio| so| uod uomisod ns us ojainbase A (74) |eluci4 |sued |8 anbojo)

:By osed

Slquiesuy sp ssuoionisul 8 X .01 a OH'E)NOHJ_S}



_gL_

g
)
!

g

N

‘(YM) BYyd249(Q BUBIUBA B| 8p |duBd |9 U0d paled | ap 9|quBSUd |8 SnNuUiIU0)

"(Z X Sd) oodnse|d ap soj|lulo] sO| uod

uoroisod ns ua ojainbase A (dA\) BUBJUSA | 8p |dued opunbas |8 anbojo)

:Jy osed

)
)
!
%

<>

;
i
ik

O

>

g
“t\.
% O

i
R u
T

0
L

0

)

§

%
i
\ 0@

)

OO

"(70) seuinbs3 se| ap soinbag so
ap ugloJasul [19e} eun eled paled

e| ap o}sando opej 8 ua ugisald
Jeaide agap euosiad epunbas eun

-VJ.ON/

N

alhdwg

oleqy eloey

92l|seg

(2 x) pepunbag ap sejppuely se| A (Z X Sd)
M) BpJainbz| euejuap e| ap [aued |9 anbojo)

(

001)SB|d 8p SOJ|IuI0] SO| uod ugidisod ns us ojainbese A

:af osed

S/

AL

9lquuesu3 sp sauoponisu| 8 X 0l A TOHODONOHL




_VL_

)

A

)

y

)

0

Y

)
i
0
o
W

y

s

)
)
)

)
)

W
R

(00
@

o

Y

n

{1 =

s

7

)

T

Y

7

=
(@)
(o

—

h«.

R — —

‘(9 x) pepunbag ap sejopuely se| A

(9 x Sd) oonse|d op So||lui0] SO| Uoo ugioisod ns us sojeinbase ‘e00]0o SO| SEJJUBI

(YY) Jous)sod [aued ‘¢

(40y) Jousysod |enua) oyosiaq [aued g

(710Y) Jousisod [enua) opiainbz| joued ‘|

:usplo ajuaInbis |8 ua (dA\) Peied ap Sajaued SaJ) S0J10 SO| opue|quesus ebig

:py osed

‘epelnbase uogloisod

-

2
[eRw
o8
>=
o9
o @
L
o
> o — 5T T o
S ) %EmmN ] W
o T Q v SMSBO wn te)
A=) &2 v @ @
[ I Q5o S 2 = <Q n
o P o S cC® o © [
82253 SSsEp||s o
[ = o > =
© =5 @5 (72} D® Q == o —
o® @ oS5 =9 @ o
>ame o273 5 ___ @
S 8 — O O i m -, (o8
o o & |24 D
D = & m . o o o
Q 5 w T S et
o 3 Q 5 c® =- (4]
@ S ® D o 3 2]
3828 2 Y
e © = ()
= o o
0SS & o U o
— — S Q
J\WE” [72)
8 o
Q

|

Z X 19) euinbs3 e| ap soinbag so| auasuy|

(

B| eJSey sojopuezi|sep

:9f osed

s

WL

9lquesuy sp ssuooNiSul 8 X .0l A TOHODONOHL




.
i

)
)

)
)
)

Y
)

3

)
)

/s
)
)

)

/

£57)

{

4
\

0

"
’
Y
)

'

"
)
’
)

Yy
)

Y

f

o

Y/

)
)

/i

i
)
g

/

)
)

N

Y
)
¢

g
§
y
i
i

{

Y

X7

)

f

\
t
//
%.

)

/

)
!

Ji
g

TR

i

//

(2x) pepunbag ap sejapuely se| A (z X Sd) oonse|d ep sojjiuio]

so| opuesn ugloisod ns us ojainbase A Jousisod eplainbz) euinbss e] us (Ty) Jouv)sod [sued |o enbojo)

:gf osed

"(gx) pepunbeg ap

PepLnBag ap ejapuely - g "\

-

0Jf3SE|d 8p OfjiuioL - 8|

Z X Sd) oonse|d 8p Soj|iuio] So| uod ugioisod ns

eyoala BUBIUSA B| 9p [aued |8 821|se(

)

ey osed

paied .| ap s9|aued SO| Jejquiesuy : osed

Py
N—
<
< o
=3
D Q
" c.
-
>3
v O
2o
>
@
Q
7]
- - A AN AN O —
o T 3T T T T T Ve M
' 2 UL D DD UTUODUoOw ', A
DO DY LY LYY D
S=23=23323>333Q9 @
O ® O ®® ®D® D® DS 3
3 S - aaad=T
p\wm\w.?u.m:%eeepme
a3l zZ2sa528 4
o = @ =
2L 2EFE <3O
w O — o oo aom2= =
CTmg=3=29 % o
o) o 2o =80
2=} P O v oo o = S
c g @ —~ 3> 33> E g
S 2 2 338338
g & 8 ZHNF=332 @
= Aeg3le 3
/ﬂmlm.ﬁuu.(\/\ @
S o
—=
=
S E3

s

AL

9lquuesu3 sp sauoponisu| 8 X 0l A TOHODONOHL




_ZL_

K\

WimEY)

\

0d1jse|d 9p OjjiuoL - ¢

pepunbag ap ejgpuely - z

’

{osed 8}S9 8p SOL0SB0Y

"(ZX) pepunbag ap sejopuely se| A (Z X Sd)

oolnse|d 8p SOj|Iulo] SO| uod ugioisod ns us ojainbase A epiainbz|
BUBJUS/\ B| 8P |auBd [8p B2190 (dA\) BUBIUSBA B| 8p |aued |8 anbojo)

:9¢ osed

s

WL

9lquesuy sp ssuooNiSul 8 X .0l A TOHODONOHL




{ 0sed |8 ua opiejejsul eed (d)
BUBJUSA B| 8p [aUed Un sjedy

‘V1ON

‘() eUEJUBA E| 9P [SUBY

[op elanje apsap Jejalns usgep

8s 0011s0d U0D SEUBUBA SET]

‘V1ON

'(SM1) epJainbz| euejus e| ap 0611sod |8 Jejeisul eled osed |9 elday

"(SMY) obnsod uod euejuaa e| @anbojq A auisl) ¢

‘uoloisod ns ua ebidss e| ap equue (SAY) BYoala( euejuap e| ap 0611sod | anbojod oban|
A (dM\) euejua | ap |dued | us ebidsa e| ap ofeqap (SAY) BYDdaIa(q eurlUa/ E| ap 0611S0d |8 auasu| ‘g

"(dM) euejus e| ap |aued

[ap eyo8Iap JouaUl BUINbSS B] 8psep OpueZuUSWOD (SANY) BYdBIa(g BUBIUS B| 8p 0BISod |8 8108uo) '|

:usplo us sosed so0)sa ebig

‘esodwol as ousad |9 o selje eloey Jauod apnd as ou obysod |3 ‘ugiouaje uod osed 9)so ea j9jueiodwy!

Ve

(HMY) eyoa1aQ BUBUSA E| 9P EllUB| -
(HM) epiainbz) euejuaA €| Bp EliUB) -
(SMY) eyoaiaq euejua/ €| op 0bnsod -
(SM1) eplainbz| euejuap | ap obisod -

pepunbag ap ejapuely -
(Sd) oanseld &p ofjuso] -
(dM) euBjUBA €| Bp [BURd -

NNNNNNN/

:aJaInbaJ osed 9133/

oB13sod Uod euejuaA e| ap
Joued |@ d|quiesug ;¢ osed

:qg osed
‘(SMY) Byoala( euelus/ e| ap obnsod [ us
(HAMY) eyoalaq euejus/ | ap eliuel e ap ugloeo0|0o e| ejiday
‘uoloisod ns ua (HAAT) epJlainbz) euejuap e| ap eliuey e| anbojo)
eg osed

S|quiesu3 sp ssuoioonisul 8 X .01 at OHONOHLS}



_OL_

alndwg

oleqy eloey
99l|sa(

0 Q w»
Q @d D
Sg<
QO
8 o9
S e
© 5 &
S o
=9
D o
=S
=
o
ODv
(7]

aqap euosiad epunbas eupn
:-VLON
J

‘(70) euinbs3 e| ap oinbag |op
ol01asul [1og} eun eled paled e| sp

|

ojsando ope| |8 us ugisaid Jealde

Z X 10) euinbs3 e| ap soinbag so| aussuy|

(

"epeinBase uginisod e| elsey sojopuezi|sep

:0g osed

()
(OUOOIN
KON
Ry

o

\

14

0011Se|d 9P OiuIo -

peplnbag ap ejspuely - Z

O

(19) euinbs3 e| ap oinbag

I/

-
-
&osed 5]S9 9P SOLOSBIY ]

‘(zx) peplnbag ap sejapuely Se| uod

001)SB|d 8p SOJ|IuI0] SO| opuesn uoloisod Ns us sojainbasy

)

(zxsd

‘(1MW) epJainbz| euejus e| 8p |aued |@ uod Jouadns euinbsa

B| opueauije |ejuod) epiainbzi euinbsa e| us (Y4) |eIUOIH [duRd |@ @nboj0)

:qz osed

s

WL

9lquesuy sp ssuooNiSul 8 X .0l A TOHODONOHL




—

O

pepLNnbag ap sejapuely - Z \
001)Seld P Sofluio] - Z

.

\:osed 3159 8P SOH0SATY )

"(zx) pepunbag ap sejgpuely se| uod (zZ X Sd)

oolise|d ap Soj|iulo]| So| opuesn uoloisod ns us ojainbase A episinbzi

ez osed

|ejuoa4 euinbs3 e| ajquesug :z osed

|eJaie| euinbsa e| ua (AA) epJainbz| euelua e ap |aued |@ anbojo)

2)
4
14
|
|

----- 3
ZWWHT U ¢n
sgSsy &
S22
PO O am O
Dood®g D
Q® D gS n
oz = O
o O [
OmET e~ =
Qel=>T @
n.mnde“d O
= =0 >— c
o3>~ —_—
oD g [0
p)SZ —
oO=—xa [)
— c. it
~— e
@
o
QO
—

ﬁ/\l\

s

AL

9lquuesu3 sp sauoponisu| 8 X 0l A TOHODONOHL




("euinbsa epeo us oun) ‘ssjeuoiodo osid |op slejoue ap soPLLQ

‘V1ON

isojeuolado osid

[op alejoue ap solouLo SO eled
salejoue soj uessiuiwns as oN!

|

‘'OSVd 31S3 ViVd 0davivi 301711N ON

(91) wo 06°L X 0L op sdijjilyd ezageo ap soj|iulo} so| uoo osid |ap sajaued so| aysnly

:p} osed

osid [op [enua)

(40)

|[oued |ap ope| 0410 |8 ua (47) 0sld |op opJainbz| [sued |8 uoo ejidey
‘1ebn| ns ua aleous anb ejsey ezawliy UOD

(4Y) osid |1ap oyoala( |pued [@ ayuswelabl aadjob ‘ewob sp ozew un
opuesn -osid |2 a1qos (40) osid [op |eljua) |oued |ap oleqe eloey Gi

ap o|nbue un us opeyueAd| A (49) 0Sid |8p |elua) |[aued |ap oble| o] e
(4Y) osid |ap oyosia( [sued [o Jezi|sap agap Jopejquiesus opunbas |3

"(4D) osid |ep |esjua) |aued |8 JelueAd| 8gep S8Iope|qUIBSUS SO| 8p oun

wo 06 X 0L# sdua}

[apuele ap Bzaged ap SOj|Ii0] - 9},

|

osed 8)se ap S0LI0S800Y

9}, osed

s

WL

9lquesuy sp ssuooNiSul 8 X .0l A TOHODONOHL




"(40) osid [9p selesjua) sajaued (g) sop eun

‘0sid op (4y) oyosaiag A (47) oplainbz| sejoued so| ap oisal |0 eied osed |o ejday

:q| osed

(47) osid |1ep opJainbz| jaued un eun

osld |op oyoala( [sued un uod

Py,
J

:e| osed

row O
>m w
wmwAa o
cm N
vO -
mc m
A= S
M o
mH Q
=2 m 3
m r— =3
52 2
TZ g
dA —
— M S
2% 3
o o
O

2

O

m

|

d
0Sld [8p 0ydsale(] |sued - Z
:aJainbal osed 81s3

wo 06°} X 0}# sdijiy

|opuely ap ezege) ap Ojjiuio] - 9}
0Sld [3p [eJjua] |sued - ¢

(40)

(47) osid [ep opiainbz| joued - g
(4y)

|

s

AL

9lquuesu3 sp sauoponisu| 8 X 0l A TOHODONOHL




_9_

eue|d ezaged euand e euand e
peplnBag ap ejepuely - 9¢ ap ojIulo] spojnsed -1 opolos)-|
WO QS L Xo#-¥ HO1 1a
:|e}o|N @p SOLIOS922Y 9p ¢ esjog ‘|e}oIN @p SOLI0S922Y 9p Z esjog
WO 06°L XCL# W |8 € XCL# wo 06°L XOL#
sdij|iyd sdiliiyd sdijjiud WO GE*'¢€ X WO 09°0 Wd Lg'L X WO 090
epeloly epewoly elepuely ap wo 09°0 [euobexaH |[euoBbexaH
eZaqeo ap ezaqe) ap ezage) ap |euoBbexaH ezaqe) ap ezaqe) ap
ojjiuio] - o ojiuio] - €€ ojiuio] - 0¢ eolen] - 1¢ ojiuio] - ¢l ojiuioyl - 8

L |

:[e}SI\ ©p SOLI0S92IY | es|og

ajeuIges) |ap aHodos - |
)

wo 1891

oyos] |op apodos - 9
Sy

Wwd 029 «

paled e| op 8)o|qeD [ap apodos - §
SOM

wod /8°¢oL

0yo9] eled ugzewly [9p |ejund - ¢
a9y
wo 68°LG1L <o -

Jepuejs3 ejuejsy |ep auodog - /
SS

wo gg'zgl = = =

oyos] eied ugzewly |op eyeeuUR) -
o). |

wo G/°8G1

Jepug)s3 uoIsualxd - |
3s

wo /L y9= =

UOZBWLIY [8p JOJ0BUOD - Z  paled B| 8p Elejeur) | ap J0josuo) -
oL 09

. i

oolnse|d ap euinbss gj oyoa |
so||lulo] - 9¢ spoinbeg-g znebes| spuode] -g znjebei] -¢g [op |9ued - 9
Sd 10 ds S dy

:(enunuo2) pepnue) Uod salled ap UQIOBDINUSP|

Slquiesuy sp ssuoionisul 8 X .01 a OH'E)NOHJ_S}



_9_

aja|gen [8p a)a|qeo) |ep oyoaiag lelua)d opJainbz|
obieT sjueysy - g OHOQ djuels3 - ¢ 9I9IqeY [9p [dued - ¢ SJ9|qeD |SP [SUBd - 8)9|qeD |ap |dued - ¢
ST $S9 S o1

q oY 90
\ a. ‘

euand e epand e| epand e| ap epand e| ap
[ued [ap sauode] - 9¢| apojised -z opelbesig-9 Jousix3 eliuep - Jouaju| eliuep -
dd d1 H Ha ai
'V
eplg uod
eplig uod eyoalaQg
epand e|ap ado] - epJainbz| eyend - g
da

epLg uis eplg uoo eyoaleQ eplainbz|
Jous}sod [eljua)  JoUS)Sod [eljua) BUBJUSA B BUBJUDA B
opJainbz| jaued - | oyoeia( |sued - | JOLBISOd [dued - ¢  8p |sued - Z op [aued - Z |ejuold |oued - Z
104 dod TH/EY dmMm IM d4/14

Y

TT

] 9/¥'ET
\ | @'Q \ 7 3
S B
eyoala euBjUS /A epJlainbz| euejusp Byoalo( eueBjUSA epJlainbz| euejusp
el op eflluey - g e| ap efluep - ¢ e| op obysod - Z e| op obysod - ¢
HMY HM1 SMY S

- S

BUBJUS/ B| Bp |[uBd -Z  OSId |op |ejua) |aued -Z  OSId |[op oyoale( [sued - ¢ osld |ep opJainbz| [sued - g

‘pepnuR) U0D Saled ap UOIOBDIIUSP)

S|quiesu3 sp ssuoioonisul 8 X .01 at OHONOHLS}



dM
dM
M
SOM
ol
SS
ds
IS
s
HMA
SMY
Sy
Td/9d
dd
Oy
44
ad

T T T NN O N O NN~ AN AN NMONSNNN

‘juey ajed e| ap el

!
pepnuen

BYyoala( BUBJUB B| 8p |aued
BUBJUSA B| 8p |dued

epJainbz| euejus e| ap |aued
paled e| ap aj9|qeo) |ap auodog
uoZeuwly [9p 10}o8uo)

Jepuejsg ajuejsy |ap auodog
znjebel] ap uode|

znjebel |

Jepueis3 uoIsuaix3

BY08I9(Q BUBIUSA B| p eliue
eyoa1aq euBUSA e| op obisod
0yo9] |op auodos

J01I9)S0d |aued

oyoa] [ap |aued

oyoaJaQ d19|geo) |ap [aued
0slid |[ap oydalaq |aued
eyoalaq exand

¥OY eplg uoo IoLeIsod [Blus) oyosia( [aued
10y epug Uuls JoLs)sod [enus) opiainbz| [pued

ajied e| op a2JqWION

9¢
pepnuen

HO1
1d

a)ied e| ap esjo]

pepLnbag ap ejspuely
ajied e| op aiquION

:[eJOIN 9P SOLI0S3I2Y 9p ¢ esjog

W0 0G°| X 8# BUB|d BZBge) ap Of|Iuio]

euand e| ap oj|ised
epand e| ap olose)

a}ied e| ap aiquION

:[e}9I\ 9P SOLI0SaIIY 9p Z esjog

€¢  Wo 1g'e x Zl# sdilllyd epewoly ezagqe ap Ofjiulo
Ov WO 06'L X Zl# sdilliyd epewoly ezaqed ap OfjiuloL
0Z Wo 06°) X 0L# sdilllud elopuely op ezageD ap oj|iuo

1z wo 09°0 |euobexsH eolen|
) WO GE'E X WO 090 [euobexaH ezage) ap O|[1uo |
<l w0 /7' X W0 09°0 [euobexsH ezege) ap o]jiuo |

ajled e| ap aiquIoON

peppued

9¢€ Sd
ocl dd
SM1
HM1
d1

o1

41

an

al

H
SSO
SO
ST19
09
4714
dd
Hd
10
90
40

N

AN N O N < - N N~ AN O N~ N N AN N

‘juey oyied e| ap eno

:|[e1S|\ ©p SOLI0S822Y 9p | es|jog

oyoa] eied ugzewly |op elseuR)

oyoa| eled uozeuwuy |ap |eyund
odliseld ap sojjiuio]

|[oued |ap sauode |

epJainbz| euejua e| ap obnsod
epJainbz| euejuap e| ap efiuey
epand e| ap o|ised

opJainbz| a)9|qeD |9p |oued
osld |ap opJainbz| |oued
epJainbz| eyand

eland e| ap Jouau| efluepy
euand e| ap elbesig

8)8|geo |8p 0HOD 8juelsy
9je|qe9 |op auodog

9)9|geo) [op obie ajue)s]

paied e| ap e}ojeue) e| ap J0josuo)

|ejuol [sued
elend e| ap ado |

eland e| ap Jouax3 eliuepy
euinbs3 e| ap oinbag
[eljua) 319|qeD |9p [dued
osid |ap [esua) |sued

a)led e| op aIqION
:001se|d 9p Saed

W €H'Z X W €F°Z X W $0°€ 9P 0ZI}3q0) |3 eied sajied ap ejsi

Slquiesuy sp ssuoionisul 8 X .01 a OH'E)NOHJ_S}



woQ6’L Xweye wo 0671 X wo 06°L X
XUpnog9sp | W ehgXW Lg| wepgXxuwliel w15g
opedeyoeguo) | ap opedeyoenuo) | ap opedeyoesuo)

w9609
Xungo'/
SpEje e OpedapEmDOUDOG'LGPLUQVZXUDZQ'Lepelqeli
\ : | (OYLNID V) W y9'0p UozZewly
> ‘W GZeWZAW /6ZE WZE | X WO 96°09 § OHOD
OY1IN3ID IV WO ¥9°0% | w sz
\ |
w y0'¢

b (6% G0 p eled) sojjiuIoL W Z| ' X /# BUSIQND

JolI9IXd ope.d L (6% G0 op eled) sojjiulo] Wwd g9'/ X 8# eualgn)

9P I3S 9qap EJSPEW B BPO | € opejes| opedeyoenuod W €H'Z X W LZ' | X W 06|

:V1ON ol opejel] opedeyoenuo) W Q'€ X WO $2'GL X WO 80'S

pepiue) sajelIa)e\ ap ejsi

elape\ ap ewlojele|d e| ap opLiabng ouewe|

weoe
< >

w8y'e

0jaiouo09 ap anbojg |ap opliabng ouewe ]

‘ugioewlojul JoAew eled |2o0] BlIS)a.IS) O Jeboy |9 eied 0Jjuad [9p S9|BUOISS)0Id SO| B JBjoRJUOD Sp
JOAB} ‘UBLIBA 0}8JO0UOD Bp 8SEBQ Bun JINJJSUOD OWOQD 81q0s Seoljoadsa sauoloonlisul se| anb e opigaq "0z1uaqoo |
eled W g’z X W g0’ ©p 9Seq eun sowepuswodal 9] ‘0zi1Jaqod |8 eled 0}9J0U0D 8p 8SE(J BUN JINJISUOD BASAP IS
("v'N'3 N3 0710S VAITVA VILNVHVYD)
"VILNVHVO V1 3VINNY 3a3nd OLNIINIO NN V OTIVINOISY ON

SOojuaIWI) SO| 9P UoIddNIISU0) A onig |ap uoioeledald

S|quiesu3 sp ssuoioonisul 8 X .01 at OHONOHLS}



'sauo1ooNnUIsul se| ea| anb eued
0]|Npe 18218} UN BpUSIWODal 8S UIquie| "0ZI}Jaqo9 [ap ajquesus |8 eled soynpe sop ap aiainbal ag -
'9|qUIBSUS |9 SjUBINP BIS|BISS BUN BSN IS OPEPIND Owalxs ebus] -
'0Z1119q09 |9 ud "0)d ‘Jepjos eted odinba ‘sa)g|dos ‘sejjuied owoo sajualed so}alqo apJenb 1u asn oN -
S8UOIS8| 0 Sajuaplooe ap obsall [8 JIonpal eled sejelOUSSS UOS OpEnJspe oSN |8
A 01081100 8|qWESUS |3 "ojudWNI0op 9)sd ap sajled ap ejsi| ] opuesn sajied se| Sepo} Jedlipuapl d
sauoloonJjsul se| ajusawe}ajdwod 99| agap ‘O|quiesua |3 JeIdiul ap SaJUY "UOIOONIISUl Bp Sa|jeuoldipe
sojelslew o/A saued Aey Is Jod Jousiul enbedws ap |elsiew |@ opo) A eled e| epo] 8SIA8y "UQIoUS)E U0D
S8UO0I00NJ]SUl Se| JinBas A 189 uIs 0zI1aqod 8]S8 Je|quiesus ajuslul ou ‘peplinbas e| Jeziueleb eied

"('v'N'3 N3 0710S VAITYA VILNVYV9) VILNVYVO V1 YH¥VINNY IS A Ava3idOodd V1V SONvVA O
SAAVYO SANOISTT YVNOISVIO NIAINd IS SVIONILYIAAV SVLSI NINOIS IS ON IS

V -dvarino3as 3d SINOIDJN™ULSNI V

‘osid |e A 018[qo |o asyue elopew ap enbojg un
us sopesad 0 s0s0|l} S0}8[qo SO| Je20]|0o epusiwooal 8g "osid |o Jeuep A Jesoped uspand sosojl S0}8lqo SO0

:0SId |9p soue( ap UOIdUdAAId

"SO|[1UIO} SO| 0S80X8 Ud Jejalde Jejiae eled [enuew JOPBWIBSSP UNn 821N ‘SejusIWelIsYy SB)Se Jaus) ou

ap oseo ug "uoisio} efeq ap a)snle |o us ss|geinbal senbeique ap obanl un uoo sopedinbs ugise o elousiod
eleq UOD Ussn 8s 0OLIJO| OIPE|E] [© O JopeWIBSSp 8 anb sjusweldwe epusiwoosl 8 ‘souep JeliAs eled
"SO[|1UJO} SO| 0S80X8 Ud uejalde 8s Is Jeyep spand 8s 0ZI18go9 [9p UQIOONJISUOD B us opezijin oonseld |3
"0011}09]8 0JpE|e) O JopBWL.IBSap UN 8p B)IS908U 8S ‘SOSBD sounbje ug "s|quiesus |9 Jeidlul 8p Sejue Sejosaliod
sejusiwellay se| Jaus) ap asainbasy "0zieqoo 8)se ap s|quiesus |o eled ualsinbal 8s sejusiwellsy seunbly

:seplianbay sejuaiwellaH se| a1q0S OSIAY

"0ZI119q09 [9p d|quEeSUd
19 ua odwsan euoye A syuepodwi Anw s osed 9)s3 "9lUSWEIDD.LI0D BIB|qUIBSUS 8S OU 0Z1}49g09 |9 ‘epejaAlu

ualqg e1se ou aiadns e| IS "epejel) elopew ap ewlojele|d eun e Jejiwis 0 0JUBWad ap salviladns se| uaAnjoul
ugioeeisul e| eled sepepuswodal saloiadns Se "UQIoB|eISUl B Jeldlul 9p SaJUEe BPE[BAIU Je)Sd agap aloiadns e
:epe|aAIN a194adng eun aiainbay ag

D o0F' ©p Sousw e UQIoe[eISUl NS BPUSIWODAI 8S ON

reanjesadwa |

"0Z11J9q09 [9p 8|qUIESUS |9p Sajue UQIoewWwIOojul B}Sa Jebljsanul ap
asainbasy "olepuldan ns ap aled uod sepeidoide sauoloeqolde se| A ugloejuswnoop e| eiainbal as uaique) anb
a|qisod s3 "uQI2oNJ}SUOD Bp osiwliad un ap aiainbal ou 0z1uaqoo 8)se Bp UYIDONIISUOD B| anb ap asJelololao esed

OpE]}Sa [ap A OpPEPUOD |8p ‘PEPNID B] 8P SBZUBUSPIO SB| OWOJ |SE ‘S8|B00| UQIDONIISUOD ap SOBIpoo sO| 8)nsuo)
:uoidonJisuo) ap SOB!pQQ SO| 91qOS OSIAY

"Sau0jooNIIsul se| Uuod aualA anb ouysiBai ap ejalie) e] 021109 Jod ojonpoud ns asysibay
:0110}eP.I029Y

0Z11Ld3909 OAINN NS dVI19INVSNL
3d S31NV VNIOVYd V1S3 V31

6L7.G| #OlOPON W OF'Z X W OF'Z X W #0'€ &p seiousix3 eled 0ziaqon
G1OH9NOHLS/L

° ( 7

Slquiesuy sp ssuoionisul 8 X .01 a OH'E)NOHJ_S}



wo |

esouoqer enby

OO

(sepinjouj oN)
:sepliabng sejualwellaq

‘ojonpoud |8 ouinbpe spuop epual e| e Jewe|| ap JoAe} ‘epnAe eled
‘epeue) A “y'N°3 SO| 9p ean) Sajudl|0 eled

"9)s [ep BIOH ‘wd G e ‘w'e g ap
SBUJSIA B Saun| ap uelapus)e o] 0}snB U0D 8)usl|o |e OIDIAISS [9p Sejurjuasaldal se|gewe sosjsenN
. 1
I ¥3°9G60.-8€9-L.8")
‘e (v'n'a N3 O710S SOAITYA ONOAATIL A SOIDIAYIS) 8InsiaT SN 8p 8jusl|D [e 01IAIBS

|e Jewe|| ap I0AB] ‘Sejol O sajue)je) saued sepinjoul ‘epnie eled ivaN3IL V1V INVTT ON!
‘epeue) A “\'N°3 SO| Ud SajUdI|0 eaed

iN3QYO0 N3 SINOIDONYLSNI SYISI VOIS A VI v
*sauoldonJsul se| e9| anb eued

a|qiuodsip o} npe 19249} un epudIWOa4 s anbune ‘ajquiesus |9 eied sojnpe sop ap a1dinbai ag °¢
"3|quiesua |3 Jezuawod ap Sajue sejsi|

SBJ20.1100 SejudjwelIdy se| 1oud} ap asainbase A ofeqe seplabns sejuajwelsay ap eysi| ] 9SINSY 2

‘uQIdIPuUO9 euanq ud A sajed se| sepo} uejsa anb ap asainbase A seles se| ap soyed se| anbeg |

:ATGINVSNI 13 JVZNIINOD 3A SILNV

iNOIOVINYOANI
V1S3 V31 OY3INIYd!

S|quiesu3 sp ssuoioonisul 8 X .01 at OHONOHLS}



